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χn := inf
{
k > χn−1 | {Xk,..., XT } ∩ {X0,..., Xk−1} = ∅}.

$��� ��� �� �� �� υ := sup{n ≥ 0 |χn ≤ T } ��� ������ ��

Vn := {Xχn ,..., Xχn+1−1}, 0 ≤ n ≤ υ.
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�����
�� ���
� ������ 
�� ��� ���
�� �
 ���
����
����� 	
���
���
���

��&&� '('( ��� ��� ��� ������ r, s ∈ S ���
 E(r) > E(s)� �� 
���

e−β(E(r)−E(s)+2γβ) ≤ π(r)

π(s)
≤ e−β(E(r)−E(s)−2γβ).

������ B�����
�
�
�� ��	 ��� �������
��� �� ��� �����
�
�� ������
�
�
�� 
����

max
(
π(r)e−γββ , π(s)e−β(E(r)−E(s))−γββ

)
≤ π(r)p(r, s)

= π(s)p(s, r)

≤ min
(
π(r)eγββ , π(s)e−β(E(r)−E(s))+γββ

)
.

6� ����
�����(

π(r)e−γββ ≤ π(s)e−β(E(r)−E(s))+γββ,

π(s)e−β(E(r)−E(s))−γββ ≤ π(r)eγββ

��	 �����
���

e−β(E(r)−E(s))−2γββ ≤ π(r)

π(s)
≤ e−β(E(r)−E(s))+2γββ

�� ���
��	� �

C�	�� ��� �����	 �������
���( 
�������  "!# ��� ����� ��� ��
������ �
 � �������
��
)�����
�� ���������
��� S = M (0) ⊃ M (1) ⊃ ... ⊃ M (n) = {s0}( n ∈ N( �
 ��� �����
����� ���� ���� ��� �������� �
 ���� ��� M (i), 1 ≤ i ≤ n( ��� �� �����	 ���������� 
� ���

�����
�� �����&

• $��� ��
�� 
��� ��� ����� �
�
�� �
 ��� ������ 
����
�� �� �����
� ��	
)���
���
�
 
��

• $���� 
� � ����� ����	 �� ��� �������	 �
�� ���	�	 
�� � �����
�
�� 
��� m1 ��
m2 
�� ��� m1,m2 ∈M (i) ��
�� 
�������� ���� 
��� �
�� i�

• $���� ��
��� � �������� C ���� ����

Pm(Xt /∈M (i+1)) ≤ e−Cβ


�� ��� m ∈M (i), 0 ≤ i ≤ n− 1, ��	 ��+�
����� ����� t�

$�
� )�����
�� ������ �
��

M (1) := {s ∈ S|E(s) < E(r) 
�� ��� r ∼ s},
��	 	������ ��� ����� �
�
��� �� ���� ����� 6� 
���( ��� ����� �
�
��� �
�� �
�
���
���
���
�� ������ 
�� � �����
�
�� �� ������� �
�
��� 
� 	�����	( ���  "!# ��	  "7# 
��

������ 	���
���



���	�	
�

 �

E(s)

s
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��

��

��

��

��

��
��

��

��

��
��

��

��

�

�

�
� �

� �

�	���� �� 4������ �
 �� ������ ���	����� �
�� �
�
�� ����� �� �����
	��� �•�

�)�&*�� '(+( '�� ��� �
���� ������ 
����
�� 	��
���	 
� '
���� !( � �������
�� ���
��
���
�� �
 ��� �����
��� 
���  "!# �� 
���������	 
� '
���� " ���	� �� ��� 
�����
��
	�������
�
�� 
��� ������� �
 ���������� ������&

M (1) = {2, 4, 6, 8, 10, 12, 14}, M (2) = {2, 4, 6, 10, 12, 14},
M (3) = {2, 4, 6, 10, 14}, M (4) = {2, 4, 10, 14},
M (5) = {4, 10, 14}, M (6) = {4, 14},
M (7) = {4}.

����	 �� ��� )�����
�� �
 S %��� 	����
��	( �� ��� ������	 �� � 	�)�
�
�� �
 � ��������
�
 ���������� ���� �����
���	 �
�� ��� ���������� ������ ��
�� �
�� 
�	��� ��� ��� 6�
��	�� �� 	� ��( �� ���� ���	� )��� �
�
��� ����� ������� ��� ������ ��	 ���
���
�����
�� ����� ���� ������

��, ���" '(-( ��� '�� ��� ��� 	
��
��� ������ r, s ∈ S( ���

Γ(r, s) := {(x0,..., xk)| k ∈ N, x0 = r, xk = s,

xi 
= xj , p(xi, xi+1) > 0 
�� 0 ≤ i ≤ k − 1, i 
= j}
�� ��� ��� �
 ��� )�
�� ���
����
	
�� ����� 
��� r �� s ���
�� ���
�
�� ������
�
���
'�� ��� ���� ���� γ = (γ0,..., γk) ∈ Γ(r, s)( ��� |γ| := k �� 
�� ������� :� 
������
��
�� t ∈ γ 

 t ∈ {γ1,..., γk}�

��� ; ���
����
	
�� ���� γ = (γ1,..., γk) 
��� r �� s 
� �����	 ������� 

 
�� ���
���
������ max1≤i≤k E(γi) 
� �
�
��� ����� ��� γ′ ∈ Γ(r, s)� $�� ��� �
 ����� �����

� 	�����	 Γ∗(r, s)�

��� $�� ��������� ������ z∗(r, s) ������� r ��	 s 
� ���� 	�)��	 ��

z∗(r, s) := argmaxt∈γE(t) ∈ S

�� ��� γ ∈ Γ∗(r, s)�

;� 
�� ���( 
� 
� �� �� ����	 ����( 	�� �� ��� ������	 ����	��������� �
 ��� ������

����
��( ��� ������
�� ��		�� 
� ��
���( ��
�� ����� ���� 
� 	��� ��� 	����	 �� ��� 
�
����� ��
�� �
�
��� ���� �� ������ 
� ��� 	�)�
�
�� �
 z∗(r, s)� $���� ��� 
�	��	 ��
������� �
�
��� �����( ����� �
���� ��� ���� �����
�� ��� ��		�� �� ���� �
��� :
�� ���
���� �
 ����� ���
��� ��� ������� ��� ��� �� 	�)��	 
� � ��
�� �������� ���� A�� �� �����
��� ����� �
�
�� �� m(1),...,m(n)( �� ���� M (i) = {m(i),...,m(n)} 
�� ���� i = 1,..., n�

��, ���" '(.( '�� ���� m ∈M (i)( 1 ≤ i ≤ n( ���

V
(i)
< (m) :=

{
s ∈ S

∣∣∣E(z∗(s,m)) < E(z∗(s,m′)) 
�� ��� m′ ∈M (i)\{m}
}
.
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�

metastable states M (i)
, 1 ≤ i ≤ 7

minimal hill
valley

��

��

�

�	���� �� �������
�� ����
���
�� �
 ��� �����
��� 
�  "!# �� ��� ������
���	����� 
� '
���� !� '�� ���� ���� i( ��� ���������� ������ �� ���� ��
��� ���������	
�� ������� ��� ������

:� ��� ���� ����� s �� ��������� �� m �� ����� i( ��������	 �� s� m �� ����� i( 



E(z∗(s,m)) = min
n∈M(i)

E(z∗(s, n))

��	 ����� �
�
��� ���� 
��� s �� � �����m′ ∈M (i)\{m} �
��E(z∗(s,m′)) = E(z∗(s,m))

�
�� V
(i)
< (m) �� ���� �
��� '
�����( ���

l(i) := inf
{
i < j ≤ n|m(i) � m �� ����� j 
�� ���� m ∈M (j)

}
	����� ��� �
�
��� ����� �� ��
�� ��� �
�
��� ����� m(i) ������� ��������	 �� � �
�
���
����� �
 �����
�� ������

��, ���" '(/( ��� ��������������& '�� ���� m ∈M (1)( 	�)��

V (1)(m) :=
{
s ∈ S

∣∣∣ s� m �� ����� 1
}
.



���	�	
�

 �

�� ��� ������ �� ����� 1 ���������
 m ��	 ���

N (1) :=

⎛⎝ n⋃
j=1

V (1)(m(j))

⎞⎠c

�� ��� ��� �
 �������
���	 ������ �� ����� !�

��� ��������� '�� 2 ≤ i ≤ n ��	 m ∈M (i)( 	�)��

V (i)(m) := V (i−1)(m) ∪
{
s ∈ N (i−1)

∣∣∣ s� m �� ����� i
}

∪
⋃

j:l(j)=i,

m(j)�m �� ����� i

V (j)(m(j))

�� ��� ������ �� ����� i ���������
 m ��	 ���

N (i) :=

⎛⎝ n⋃
j=1

V (i∧j)(m(j))

⎞⎠c

�� ��� ��� �
 �������
���	 ������ �� ����� 
�

?��� 
� � ���� 
���
�
�� 	����
��
�� �
 ���� ��� ����
��� ��� 	�)�
�
��� ���	�� 
� �


����� ���& '
���( �� 	�)��( 
�� ���� ����� i ��	 m ∈M (i)( ��� ��� V
(i)
< (m) �
 ����� ������

s ���� ��� �������� ��������	 �� m 
� ��� ����� ���� E(z∗(s,m)) 
� ���
���� ������� ����
E(z∗(s,m′)) 
�� ��� ����� m′ ∈ M (i)� $���( �����
�� �� ����� ���( ���� ������ V (1)(m)(

m ∈ M (1)( 
� 
����	 
��� V
(1)
< (m) �� �	%�
�
�� ��� 
������ ������ s ��������	 �� m ��

��
� ������ $�
� ������ �� �
�� � ��� �
 �������
���	 ������( 	�����	 N (1)� 6� ��� ���� ����
������ "�( ��� V (2)(m) 
��m ∈M (2) 
� ����
��	 �� �	%�
�
�� �� V (1)(m) ��� ����� s ∈ N (1)

��
�� ��� ��������	 �� m �� ����� "� D������ ���� ��
� ������� V
(2)
< (m) ⊂ V (2)(m)�

��������( 

 m(1) 
� ��������	 �� m �� ����� "( ���� V (1)(m(1)) 
� �����	 
��� V (2)(m) ��
����� 6
 �� ���� m ��
��� ����� l(1) > 2�( 
� ����
�� ��������	 ���
� �����
�� ����� l(1)
����� 
�� ������ ����� m(1) ������� ��������	 �� ���� m′ ∈ M (l(1)) ����
�� 
�� ������
�� �� �����	 
��� V (l(1))(m′)� $�
� �����	��� ����
���� 
� ��� ��� ���
��� ������
��
������ ���
� �� ����� n ��� ������ ���� ���� �����	 
��� ��� ������� D��
�����( ������� �

��� ���� ��	�� ��� ��
��
�� 	
�%�
��� ;���( ������� ���� 
����	 �� ���� ����� ��� ���� ��
�����	 �� � ����� ��	 �
�� ���� ����� �� �
���	 ����� 	��
�� ��� ������
�� ���������
���
'�� ��� ������ 
����
�� 	��
���	 
� '
���� !( ��� �������
���� 	��
��	 ������� �
 ��	��
i = 1,..., 7 ��� ����� 
� '
���� "�

��
��� ������	
�� �� ������� �� ��� ������� ����� �
 �������( �� ������� ���� ���
�(
������ �����
��� �������
�� �
 ������
�� ��		��� ��
�� �
�� �� ���
�� ������
����


�"*"!���" '(0( ��� ��� r, s, u ∈ S� 0 ≤ i ≤ n� m1,m2 ∈ M (i),m1 
= m2, ���

x1, x2 ∈ S ���
 x1 ∈ V
(i)
< (m1) ��� x2 ∈ V (i)(m2)� �� 
���

��� z∗(r, s) = z∗(s, r)�
��� E(z∗(r, s)) ≤ E(z∗(r, u)) ∨E(z∗(u, s))�
��� E(z∗(x2,m2)) ≤ E(z∗(x2,m′)) ��� ��� m′ ∈M (i)�
�	� E(z∗(x1,m2)) = E(z∗(m1,m2))�
��� E(z∗(x1, x2)) ≥ E(z∗(m1,m2))�
�
� z∗(x1, x2) 
= x1�

������ /���� ��� ��	 ��� ��� ���
����
'�� ��� �� ��� �� 
�	���
�� ���� i ��	 ���� ���� ����� 
� ����
�� �� ���� ���� i = 1�

'�� ������� i( �� ���� ���� ���

� ���� E(z∗(x2,m2)) ≤ E(z∗(x2,m′)) 
�� ��� m′ ∈M (i)



 x2 ∈ V (j)(m(j)) 
�� ���� j < i ���� ���� l(j) = i ��	 m(j) � m2 �� ����� i �	��
�� ��� ������
�� 	�)�
�
�� �
 V (i)(m)�� ��� ��� ������ ������� ���� E(z∗(x2,m(j))) ≤



�� ������ 	�
����� 	
� 	
���	 ��
����

E(z∗(x2, n)) 
�� ��� n ∈M (j) ⊃M (i) �
�	���
�� ��������
�� �� ���� �� E(z∗(m(j),m2)) ≤
E(z∗(m(j),m′)) 
�� ��� m′ ∈M (i)� E�����������( 
�� ��� ���� m′(

E(z∗(x2,m2)) ≤ E(z∗(x2,m(j))) ∨E(z∗(m(j),m2))

≤ E(z∗(x2,m(j))) ∨E(z∗(m(j),m′))

≤ E(z∗(x2,m(j))) ∨E(z∗(x2,m′)))

= E(z∗(x2,m′))

�� �������	�
'�� ������
�� �	�( ���� ���� E(z∗(x1,m2)) > E(z∗(x1,m1))( ��
�� 
� ����
���
��

�
�� ��� ��	 ��� 
���
��

E(z∗(m1,m2)) ≤ E(z∗(m1, x1)) ∨ E(z∗(x1,m2)) = E(z∗(x1,m2))

��	 ���� 
������

E(z∗(x1,m2)) ≤ E(z∗(x1,m1))︸ ︷︷ ︸
<E(z∗(x1,m2))

∨E(z∗(m1,m2))︸ ︷︷ ︸
≤E(z∗(x1,m2))

≤ E(z∗(x1,m2)).

�� ��� ����� ���� �� �� 
	���
��( 
��� E(z∗(x1,m2)) = E(z∗(m1,m2))�
$���
�� �� ���� ���( �� )��� 
�
�� �
�� ��� ���� �
 ��� ��	 �	� ����

E(z∗(x1,m1)) < E(z∗(x1,m2))

= E(z∗(m1,m2))

≤ E(z∗(m1, x2)) ∨ E(z∗(x2,m2))�!�

= E(z∗(x2,m1))

≤ E(z∗(x2, x1)) ∨ E(z∗(x1,m1)),

����

�"� E(z∗(x1,m1)) < E(z∗(x1, x2)).

$������� �
�� ��� %��� ����� 
������
�� E(z∗(m1,m2)) ≤ E(z∗(x2,m1)) ���� �!�� ��	
������� ��� �
 ���( ��
� �
��	�

E(z∗(x1, x2)) = E(z∗(x2, x1)) ∨E(z∗(x1,m1)) ≥ E(z∗(x2,m1)) ≥ E(z∗(m1,m2)).

'
�����( �� 
�
�� �
�� ��� ���� �
 �"� ����

E(z∗(x1, x2)) > E(z∗(x1,m1)) ≥ E(x1)

��	 ���� z∗(x1, x2) 
= x1 �� ���
��	 
� �
�� �


�&��1 '(2( 6� 
� ���
�� �� ��
�� ��� ��� 
�����
�� ����������� �
 ��� ����
��� ������
�
�
��� 6
( 
�� �� ���
����� ����� s ��	 ��� ��� 	
��
��� ���������� ������ m,n ∈M (i)( �����
��
��� � �
�
��� ���� γ 
��� s �� n ���� �
�� � ����� r �
�� E(z∗(r,m)) < E(z∗(r, n)(
���� ����� 
� ���� � �
�
��� ���� 
��� s �� n ���� ������ ������� m� F�����( 

 ��
������� ��� ������� 
��� r �� n �
 ��� 
����� ���� �� ��� ����������
�� �
 ��� �
�
���
����� 
��� r �� m ��	 
��� m �� n( ���� ��� ���
��� ������ �
 ��
� ��� ���� 
�

E(z∗(s, n)) ∨E(z∗(r,m)) ∨ E(z∗(m,n)) ≤ E(z∗(s, n)) ∨ E(z∗(r,m)) ∨ E(z∗(r, n))

= E(z∗(s, n)) ∨ E(z∗(r, n))

= E(z∗(s, n)),

�� /�����
�
�� !�8���( ������ ��� ��� ���� ��� �� �� �
�
��� 
��� s �� n �� ����� $�
�
�
��	� ��� 
����&



���	�	
�

 ��

��� ; �
�
��� ���� 
��� s �� n( ����� s � n �� ����� i( �
�� V
(i)
< (n) ��
��� 
� �
��

��� r �
�� E(z∗(r,m)) < E(z∗(r, n)) 
�� ���� m ∈ M (i)� D�����
��( �
��� ���
������� 
��� r �� m ��� �� ������ �� ���� 
� {t|E(z∗(t,m)) < E(z∗(t, n))} ��	
���� E(z∗(s,m)) = E(z∗(s, n))( ����� ����	 �� � ���� 
��� s �� m ��� �
��
��

V
(i)
< (n)�

��� 6
 s � n �� ����� i ��	 m ∈ M (i)\{n} �
�� E(z∗(s, n)) = E(z∗(s,m))( ���� �

�
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��� ���� 
��� s �� m 	��� ��� ���� �
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(i)
< (n) �� ���� �
��( ��� 
� 
���

����
�� ���� ��� ����� ������ V
(i)
< (m′),m′ ∈M (i)\{n}�

��&&� '(3( !�� 1 ≤ i < j ≤ n� m = m(i) ��� s ∈ V (i)(m)� "
�� s ∈ V
(j)
< (m′) ���

���� m′ ∈M (j) ��	���� l(i) ≤ j� m ∈ V
(j)
< (m′) ��� �
�� V (i)(m) ⊂ V (j)(m′)�

6� ����� ���	�( �������� V (i)(m(i)) �����
�� �� ������� s ��
�� �� ���� �
���� �����

j ������� �� ���� V
(j)
< (m′)( m′ ∈M (j)( ��� ���� ���� ���	 ���� 
�� m(i) 
����
 
����
��

V (i)(m(i)) ⊂ V (j)(m′)� E���������( ��
� ���������� ���� V (i)(m(i)) �
�� ���� �� ������

�������� �
�� ��� V
(j)
< (m′) �� ������ j < l(i) ����� 
� ��� ��� ��� ���� �����	 
��� �

������ �
 �
���� ��	���

������ A�� �� )��� ���� ����( ��	�� ��� �
��� �������
���(

E(z∗(s,m)) ≤ E(z∗(s,m′)) < E(z∗(s, n))


�� ��� n ∈M (j)\{m′}( ������

E(z∗(m,n)) ≤ E(z∗(s,m)) ∨E(z∗(s, n)) = E(z∗(s, n)) ≤ E(z∗(s,m)) ∨ E(z∗(m,n))

����
�� E(z∗(m,n)) = E(z∗(s, n)) 
�� ��� ���� n� C�
�� ��
� 
���( �� )�	 ����

E(z∗(m,m′)) ≤ E(z∗(s,m)) ∨ E(z∗(s,m′)) < E(z∗(s, n)) = E(z∗(m,n))


�� ��� n ∈M (j)\{m′}( ��
�� 
���
�� m� m′ �� ����� j ��	 ���� l(i) ≤ j �� ���� �� ���
����� ������
���� �

�"*"!���" '(4( ��� ����� m ∈M (i) ��� 1 ≤ i ≤ n� V

(i)
< (m) �� ����������

������ /
�� ��� s ∈ V
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< (m)( ��� �
�
��� ���� 
��� s �� m ��	 )����� ��� 
������	
���

����� r ����� ��
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�� ��
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E(z∗(r,m)) ≤ E(z∗(r, s)) ∨ E(z∗(s,m))
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< E(z∗(s,m′))

≤ E(z∗(s, r))︸ ︷︷ ︸
<E(z∗(s,m′))

∨E(z∗(r,m′))

= E(z∗(r,m′)),

��
�� ����� r ∈ V
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F��� ���� �� ���� ���� ����� ���� � �
�
��� ���� 
��� � ����� 
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< (m) �� m �
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����� ����� ��
� ���� :� ��� ������ ��	 �
�� 
�	��	 ���� �� /�����
�
�� !�!! ����� ����
V (i)(m) 
� ��������	 �� ����� $�� 
�����
�� ����� 
� ���	�	 
�� 
�� ����
�

��&&� '('5( #���� 1 ≤ i ≤ n, m ∈ M (i) ��� s � m �� ����� i� ��� γ = (γ1,..., γk) ∈
Γ∗(s,m) �� � 	��
 ���
 �
�� E(z∗(γi,m)) ≤ E(z∗(γi, n)) ��� ��� n ∈ M (i)\{m}� ���

�
��
 ����� �� V
(i)
< (m) ���� 
�����
 �
�� ��� $���
 � γ �%���� �� ������ &�' $�((� "
��

γj � m �� ����� i ��� ���
 j = 1,..., k�
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������ $���� 
� ����
�� �� ����� 
�� γ1 = s ��	 ��� γj ∈ V
(i)
< (m)� �� ��� r �� ��� �����

����� �
�
��	 �� γ( �
�� �� ���
����� n ∈ M (i)\{m} �
�� E(z∗(r, n)) = E(z∗(r,m)) ��	
���� ��� �
�
��� ���� τ 
��� r �� n� A�� σ �� ��� ������� �
 γ 
��� s �� r� :� ���� ����

���� τ �
�� V
(i)
< (m)� '
���( �� ��
�� ��� ���� ��� ���
��� ������ E(z∗(s, r))∨E(z∗(r, n))

�
 στ ( ��� ����������
�� �
 σ ��	 τ ( ���
�)��

E(z∗(s, n)) ≤E(z∗(s, r)) ∨ E(z∗(r, n)) ≤ E(z∗(s,m)) ∨E(z∗(r,m))

=E(z∗(s,m)) ≤ E(z∗(s, n)),


����
�� στ ∈ Γ∗(s, n) ��	( 
����������(

E(z∗(s, r)) ∨ E(z∗(r, n)) =E(z∗(s,m)) ∨ E(z∗(r, n))

=E(z∗(s,m)) ∨ E(z∗(r,m)) = E(z∗(s,m)).
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��� σ 	��� ��� �
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���� τ ���� �
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(i)
< (m)� �
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�
��� ����
	� 
�
�����
�� �� ��� ����� �
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������ :� ��� �� 
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�� ��������� 6
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 ��� ��������� ������� ������� ��� s ∈ V (1)(m)( m ∈M (1)( ��� �� ��������	

�� m �� � �
�
��� ���� ���� ���������� ������ V
(1)
< (m) �
����� �
��
�� ��� ����� V
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��	 
� �����
��� ���������� �����
��	 
� V (1)(m) �� ��� ����
��� ������
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�� �� ��� 
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�� ����( ������� ��� ������
�� ���	� ���� �� �� ����� i− 1� '
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�� ����( �� ��� 
�	���
�� ��������
�( V (i−1)(m) �� ���� �� ���
V (j)(m(j)) �
�� l(j) = i ��	 m(j) � m �� ����� i ��� ��������	� F��( �
��� ����� m(j)

�� ���� �� ��� s ∈ N (i−1) ��������	 �� m �� ����� i ��� �� ��������	 �� m �� �
�
���
����� �� ������	 
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�� ��� �� ���� 	
������ �� ���� ��� 
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n1,..., nk−1 ∈ M (j)\M (i) ���� ���� np−1 � np �� ����� lp 
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i < l1 < ... < lk = j( ����� n0 := m ��	 nk := n� ;� � �����������(

V (i)(m) ⊆ V (l1)(n1) ⊆ ... ⊆ V (lk−1)(nk−1) ⊆ V (j)(n)
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� ���� ��� ������ ��������	 �� m �� ����� i ������ �� V (i)(m)�
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 1 ≤ i ≤ n ��� m ∈M (i)� �� 
��� �
��{
s ∈ S

∣∣∣s� m �� ����� �
}
⊂ V (i)(m)

⊂
{
s ∈ S

∣∣∣E(z∗(s,m)) ≤ E(z∗(s,m′)) ��� ��� m′ ∈M (i)
}
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s� n1 �� ����� l1, n1 � n2 �� ����� l2, ... nk−1 � nk �� ����� lk

�
�� k ≥ 1 ��	 1 ≤ l1 ≤ ... ≤ lk ≤ i − 1� ?���( n1 	������ ��� )��� �
�
��� �� ��
��
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� ��������	 ����� s ∈ V (l1)(n1)�( ��
�� nk 
� ��� ���� �
�
��� �
 ��
� �
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� ���
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�� ��� j( 
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���
�� nj � m �� ����� i


�� ��� 1 ≤ j ≤ k� ;� � �����������( nk ∈ V (i)(m) ��	 ���� s ∈ V (i)(m)� 6

E(z∗(n1,m)) < E(z∗(n1,m
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�� ��� m′ ∈ M (i)\{m}( ��� ������
�� 
� �����	� ?����
������� E(z∗(n1,m)) ≥ E(z∗(n1,m
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�� ���� m′ ∈M (i)\{m}� $���

E(z∗(s,m′)) ≤ E(z∗(s, n1)) ∨ E(z∗(n1,m
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≤ E(z∗(s, n1)) ∨ E(z∗(n1,m))

≤ E(z∗(s, n1)) ∨ E(z∗(s,m))

= E(z∗(s,m))

≤ E(z∗(s,m′)),
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���
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��� s �� n1 ��	 ��� �
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��� ������
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����� � �
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���

�
� V
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� ��������	� F��( 
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< (m) 
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< (m) 
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�� ��� ��
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��� ���� ���
��� ������ ������ ����

E(z∗(x,m))� E�����������(

E(z∗(x,m)) < E(z∗(x, y)) ∨ E(z∗(y,m′))
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��� ����� ����� V ��� ��� ��� ���� �����	 
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�
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����
����� s ∈ V (k)(m′) 
�� ���� m′ ∈ M (k) ��	 k ≤ j� /
�� ��� r ∈ V �
�� r ∼ s ��	
���� ���� r ∈ ∂+V (k)(m′)� :������� �� ��� ������ ���� r � m �� ����� j ∧ i� $���
A���� !�!3 ��
�� x = r ��	 y = s� ������� ���� �
���� E(z∗(r, s)) > E(z∗(r,m) ≥ E(r)(
���� z∗(r, s) = s ��	 E(r) < E(s)( �� r ∈ V<(m) ��	( 
�� ���� n ∈M (j∧i)(

E(z∗(r,m)) < E(z∗(r, n))

≤ E(z∗(r, s)) ∨ E(z∗(s, n))

≤ E(z∗(r, s)) ∨ E(z∗(s,m))

≤ E(z∗(r, s)) ∨ E(z∗(r,m))

= E(s) ∨ E(z∗(r,m)),
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��� (V (i)(m))m∈M(i) �� (V (i+1)(m))m∈M(i+1) ( ���� ������� ���
�����	 
��� ��� ��
�� ���� ��� ������� �
�
�� ����
��	 �� ���������� ������� ��	 �		
�
�
������ ����� ������ 
��� N (i) ��� �		�	 ��
�� �� ����� i ���� ��������	 �� ����������
������ ��� ��� ������
�� �� ��� ���� ������� $�
� 
�	���� ��� 
�����
�� �������������� ��
��� ����� �����&

• '
� ∅ = s0�
• $�� )��� �������
�� �
 ��� ���� ����
��� �
 ��� m ∈M (n−1) ∪N (n−1) ��	 ��� ����

��������	 �� ��� �����



���	�	
�

 ��

• $�� �����	 �������
�� �
 ��� ���� ����
��� �
 ��� m ∈M (n−2) ∪N (n−2)( ��	 m 
�
��������	 �� ��� ��	� k �
 ��� )��� �������
�� 
�� ��
�� E(z∗(m, k)) 
� �
�
���
�� �� 
����
 �
� ��� ���
��� �������

• $�
� ����
���� ���
� 
� ��� n� �������
�� ���� ����� 
� �
���	 ��	 ��������	 �
����
�
�� 
�� ��
��� ��
�� �
 �������
�� 
� ��� ����
��� �������
�� �� �
�� 
����
�

�)�&*�� '('0( '�� ��� ������ 
����
�� �
 4������ !�" ��	 	��
���	 
� '
���� !( ���
	����
��	 ���� 
� ����� 
� '
���� 2� $�� ���� �
 �������
���	 ������ �� ��� 	
*����� ������

�	���� �� $�� ���� ������
�� �� '
���� !

���

N (1) = {3, 5, 7, 9, 11, 13}, N (2) = {3, 5, 7, 11, 13},
N (3) = {3, 5, 7, 11}, N (4) = {3, 7, 11},
N (5) = {7, 11}, N (6) = {11},
N (7) = ∅.

;� ���� ����� i �
 ���� � ���� ��� ������� �����	 �� � ��	� m ∈ M (i) ����
��� �
 ���
������ 
� ��� ������ V (i)(m)� ; �
�
��� �������������
��� ��	��
�� 
� ��	�� �� �
����
-�
�
�� 	
����
���� ������ ���	������ ��� ���� ���	( 
�� �������( �� � ��!	�� �� ��� 
�
 !1#� $���� ������� ���� �
�� ��		��� �
 ����� �� ����� 6� �������� �� ��� ��������(
����� ����
��� ����( ���� 
� ����� ����
��� ��		�� 
� ����������	 �� � ��	� 
� ��� �����
��� �� �� �
�� ���( 
� ��� �
�
� �
 ��� ������������ (β → ∞) ��� ������
�� ��		�� 
� ���
�� ���	�

F�� ����� ��� ��� 
��	������� 	
����
��� 
�� 
������ 
�����
���
���&

�!� "	�������	� �	�#& :��� ������� ��
�� ��� ������� �
�
�� � )��	 ������ V ��

���
����� ������H
6� ����
�� "( �� �
�� ���� ���� 	��
�� ���� �
�
� �
 � ������ V 
�� �
�
��� �
��
�� ������	 �
�� ������
�
�� ���	
�� �� ! �� β → ∞( ��	 �� ���� ��������� ���
�������	 ���
	���� �
�� 
� V ( ������
�� /������� 2 �����	 
� ��� 6����	���
��
��	 ������� ��
�@� �� ����
�����
����
���

�"� "��������	� �	�#& ?�� 	��� ��� ������� %��� ������� ��� �������H
6� ����
�� 2( �� 	���
�� �� ��� ������� �
 ����
�� "( �� �
�� ���� ���� �� ���
�����
��� ���������	 ���
� 
� ������
�� 
� ��� �
�
� �� β → ∞ ��	 ��������� 
��
�����
�
�� ������
�
�
��� :
�� ��
� �� �
�� )����� �� ���� �� ����
	� ��� 	�)�
�
��
�
 �� ��	 ������
�� /������
�� !( " ��	 3 �
���	 
� ��� 6����	���
���

"� "	�������	� �	�#$ �	%	�� � ������

����	 �� ��� ����
	�	 	�)�
�
�� �
 ������� �
 	
*����� ��	���( �� ��� ��� ��
�� ��
���	� ��� ������� ���� ���
�� 
� � )��	 �������



�� ������ 	�
����� 	
� 	
���	 ��
����

"�!� ���6���"���! 7"� β → ∞( $�� )��� ���� 
� ��� ���	� �
 ��� �
�������
� �������
��	 ���� ��� ���
� ������ 
�� ��� ���������� ������
� �
 ��� ���������
� ������� 	����
�
�� ��� ������
�
�
�� �
 �����
�� �����
� ������ ����
�� ���� ������� '��� ��
� �� �
��
������	� ���� 
� ��� �
�
� β → ∞ ���
�� 
� ��� ��� ����������� �
�
� 
� ��� ��������
�
;����
���� ��� �������( ���� �����
�� ��������� 
� � ������( �
�� �
�
� 
�� �
�
���
��
��� ����
�� 
��

'�� A ⊂ S ��	 x ∈ S( �� 	�)��

τA := inf{n ≥ 1|Xn ∈ A}, τx := τ{x} ��	 N (x) := {y ∈ S|p(x, y) > 0}.
$�� ������ x, y �
�� p(x, y) > 0 ��� �����	 ��
������ �x ∼ y� ��	 N (x) ��� ��
��������	
�
 x� ?����( S ��� ���	 �
��� �� �
���	 �� � ����� �����
��� �
�� �	�� ��� {(x, y)|x ∼ y}�

�8�"��& +('( !�� x, y, z ∈ S �� ��� 	������� �������� ������ ���������
 E(z∗(x, z)) >
E(z∗(x, y)) ��� z∗(x, z) 
= x� "
�� �
��� �%��� �����
����� ��������� K(β) ���������

supβ>0K(β) <∞ $��� 
���� ���� �%	������� �� ���	������� )�* �����( ���
 �
��

Px(τz < τy) ≤ K(β) e−β(E(z∗(x,z))−E(z∗(x,y))−7γβ) =: ε(x, y, z, β)
β→∞−→ 0.

$��� 
� ��� �
�
� �
 ��� ������������ (β → ∞)( ���� ��� �������� �
 ��� ����
���
������ ����
��� �*���� ��� ����	 �
 � �����
�
��� 6� ����
�����( �� ���� ��� 
�����
��
������ ��
�� 
� ����
�
���� �� ��� ���������� ����

�8�"��& +(+( #���� �������� x, y ∈ S ��� m ∈ M (i) ���
 �
�� x � m �� ����� i ���
y /∈ V (i)(m)� ��� B := {z ∈ S|E(z∗(x, z)) > E(z∗(x,m))}� "
�� �� 
���� ���� �
��

Px(τy < τm) ≤ ε(x,m, y, β)1B(y)

+

⎛⎜⎝ ∑
z:E(z)>E(z∗(x,y))

ε(x, y, z, β) +
∑

z∈V
(i)
< (m)

ε(z,m, y, β)

⎞⎟⎠ 1Bc(y)

=: ε̃(x,m, y, β)
β→∞−→ 0.

�8�"��& +(-( #���� m ∈M (i)� x ∈ V (i)(m) ��� y /∈ V (i)(m)� ��� k ≤ i �� ���
 �
��

m0 := x� m1 �� ����� l1, m1 � m2 �� ����� l2, ... mk−1 � mk = m �� ����� lk

��� �������� 1 ≤ l1 < ... < lk ≤ i� mj ∈ M (lj) ��� j = 1,..., k ���������� �� �
�
������������ �� +�������� &�,� "
��

Px(τy < τm) ≤
k∑

j=1

Pmj−1(τy < τmj ) ≤
k∑

j=1

ε̃(mj−1,mj , y, β)
β→∞−→ 0.

'�� ��� ������� �� 	�)��	 ���� ��
� ���)��� /������� ! �����	 
� ��� 6����	���
��&
6
 β 
� ��+�
����� �����( ���� �
�� �
�� ������
�
�� ��� �
�
��� �
 � ������ 
� �
�
��	
��
��� ��
� ������ 
� ��
��

$�� ����
 �
 $������ "�! �
�� �� �������
���	 �� � ����
���
�� �
 ��� ������
�
���
	�� �� 
��	�� �� ���  1# 
�� � ���� ����
�� �
����
��� :� ������	 �
�� � ��
�������
��
�
 ��� )��� ��� 
� � ������ 
��� ��	 ��	�� ������ �������
���� $�� ����
 
� ��� ����
�� 
� ��� ��
�
��� ����
�� ���� 
� ��� �� ��
� 
� �����


�"*"!���" +(. �������� $������ !�. 
�  1#�( !�� x, y, z ∈ S �� 	������� �������� ���

�
�� z∗(x, z) 
= x� "
��

Px(τz < τx) ≤ K(β) |S|−1 e−β(E(z∗(x,z))−E(x)−2γβ),

Px(τy < τx) ≥ |S|−1 e−β(E(z∗(x,y))−E(x)+5γβ),

�
��� K(β) := |S|maxr∈S |N (r)| (|S|e−β(mina�=b:E(a)>E(b)(E(a)−E(b))−2γβ) + 1
)
�



���	�	
�

 ��

$�� �����	 ������
�
�� ���	�	 �� ����� $������ "�! 
�


�"*"!���" +(/ ���� E�������� !�8 
�  1#�( #���� I ⊂ S ��� �������� x, z ∈ S\I�

Px(τz < τI) =
Px(τz < τI∪{x})
Px(τI∪{z} < τx)


���� �����

:
�� ��
� ��� /�����
�
���( ��� ����
 �
 $������ "�! ��� ��� �� �
��� ��
�� ���
���

������ $�� "
����� )�&( �� )��� ��
�� ��� ����
��� ������ ��	 ���� /�����
�
�� "�3 ��
��
K(β) �� 	�)��	 ������( �� )�	

Px(τz < τy) =
Px(τz < τ{x,y})
Px(τ{z,y} < τx)

≤ Px(τz < τx)

Px(τy < τx)

≤ K(β) e−β(E(z∗(x,z))−E(z∗(x,y))−7γβ).

$�� �������� 
� ��������	 �� ���
�� ���� E(z∗(x, z)) > E(z∗(x, y)) ��	 K(β) ≥ 0
��������� ��

|S|max
r∈S

|N (r)|
�� β → ∞� �

������ $�� "
����� )�)( 6
 B ������( ��� �������	 ����	 
������ 	
������ 
��� $������
"�!� /�����	
�� �� ��� ���� ���� Bc ������( 
��� E(z∗(x, y)) ≤ E(z∗(x,m))( �� )��� ��
��
��� ����

Px(τy < τm) = Px(τy < τm, E(Xn) > E(z∗(x, y)) 
�� ���� n ≤ τy)

+ Px(τy < τm, E(Xn) ≤ E(z∗(x, y)) 
�� ��� n ≤ τy)

=: P1 + P2.

'�� ��� z ∈ S �
�� E(z) > E(z∗(x, y))( �� ���� z∗(x, z) 
= x ��	 E(z∗(x, z)) >
E(z∗(x, y))( 
��

E(z∗(x, z)) ≥ E(z) > E(z∗(x, y)) ≥ E(x).

$����
���( �� �� ������ �� $������ "�!(

P1 ≤ Px(τz < τy 
�� ���� z �
�� E(z) > E(z∗(x, y)))

≤
∑

z:E(z)>E(z∗(x,y))

Px(τz < τy)

≤
∑

z:E(z)>E(z∗(x,y))

ε(x, y, z, β).

$� ��� �� ���
���� 
�� P2( ���� ���� ����� �
�
��� ���� 
��� x �� y ���� ���� �������

V
(i)
< (m) �A���� !�!3�� :
�� ��
� ��������
�� ��	 �� ������� ������ �� $������ "�!(

�� 
�
��

Px(τy < τm, E(Xn) ≤ E(z∗(x, y)) 
�� ��� n ≤ τy) ≤
∑

z∈V
(i)
< (m)

Pz(τy < τm)

≤
∑

z∈V
(i)
< (m)

ε(z,m, y, β),



�� ������ 	�
����� 	
� 	
���	 ��
����

���
�� 
������ ��
�
-�	 ���� ��� /�����
�
�� !�8�
� ��	 ���� z∗(z, y) 
= z ��	

E(z∗(z,m)) < E(z∗(z,m′))

≤ E(z∗(z, y)) ∨E(z∗(y,m′))

≤ E(z∗(z, y)) ∨E(z∗(y,m))

≤ E(z∗(z, y)) ∨E(z∗(z,m))

= E(z∗(z, y))


�� ���� m′ ∈ M (i)\{m} �
�� E(z∗(y,m)) ≥ E(z∗(y,m′))( ��
�� ���� ��
�� �
��� y /∈
V (i)(m)� �

������ $�� "
����� )�-( :� )��� ���� ���� y /∈ V (lj)(mj) 
�� ��� 1 ≤ j ≤ k� :
��
m0,...,mk �� �����	 
� ��� ������� ������� m0 = x ��	 mk = m�( �� ����
�

Px(τy < τm) = Px(τm1 < τy < τm) + Px(τy < τm1 ∧ τm)

≤ Pm1(τy < τm) + Px(τy < τm1)

≤ Pm2(τy < τm) + Pm1(τy < τm2) + Px(τy < τm1)

���

≤
k∑

j=1

Pmj−1(τy < τmj ).

'
����� ��� $������ "�" �� 
�
��

Pmj−1(τy < τmj ) ≤ ε̃(mj−1,mj , y, β)


�� ���� j = 1,..., k� �

"�"� 9��!�$!����" ����� � � �)�� ��&�( F��������( ������� ����� �����
��� �������
��
��� �����
�� �
 ��� ������� ���� ���
�� 
� � )��	 ������ ��� �
 
�������( ��	 .�����
������������ ��� ������ �� ��� �� ���� �� �
�� )���� '�� � �
��� ������ V ��
 ��� ������(
� ����
�����
����� 	
���
���
�� ν = (ν(j))j∈V 
� ���������
-�	 �� ��� .���������������(
�
-�

�1� Pν(Xn = j|τS\V > n) = ν(j) 
�� ��� j ∈ V,

��� ���� ���
�)��

�8� lim
n→∞ Pμ(Xn = j|τS\V > n) = ν(j) 
�� ��� j ∈ V



 μ 
� �� ���
����� 	
���
���
�� �
�� μ(V ) = 1� $�� ������ �������� ���	��� ��
�������
�
 ν� �
��� S 
� )�
��( ��
������ �
 ν 
������ �� �� ��	 ������ 	�� �� &�����! � 
�����

 5#� 6� 
� ����
��	 �� ��� ������
-�	 �
��������� �
 ��� /������'�����
�� �
��������
λ = λ(V ) �
 � ��	
)���
�� �
 P� $�
� �
�������� λ 
� ���� ��� ������
�
�� 
�� ��� ���
�
�� ���� 
� V �� ����� ��� ���� ���� ������	 �
�� ν( ���� Pν(τV c > 1) = λ� ;� ��

���	
��� �����������( ��� )�	� ���� ��� ��
� �
�� τV c ��� � �������
� 	
���
���
��
�
�� ��������� 1−λ ��	�� Pν � 6� ��� ������� �������( ��
� ��������� ��
��� ��� �����
��
��� ��� ��������� λ ������� �� ��� �����
�
�� ������
�
�
�� �� ��� �����
�� �
 ��� ������
V � ; �
���� ������
�
��
� �������� ����� ��� 
�����
�� ���
� ��	 
���
�
���� ���
���
������ �������
�� ��� �
��������� �����
���	 �
�� ��� ����
�� V (1)(m) ⊂ ... ⊂ V (i)(m)
�/�����
�
�� !�!"� 
�� ��� 1 ≤ i ≤ n ��	 m ∈M (i)�


�"*"!���" +(0( ��%��
 ��� 1 ≤ i ≤ n ��� m ∈ M (i)� ��� λ(j) := λ(V (j)(m)) ���

j = 1,..., i� "
�� λ(1) ≤ ... ≤ λ(i)�



���	�	
�

 ��

������ :�
�� νj �� ��������	 
�� ��� ����
�����
����� 	
���
���
�� �� V (j)(m) ��	 Tj 
��
τS\V (j)(m)� /��
���( Tj ≤ Tj+1

(λ(j))n = Pνj (Tj > n) ≤ Pνj (Tj+1 > n)

=

∫
{Tj+1>k}

PXk
(Tj+1 > n− k) dPνj

= Pνj (Tj+1 > k)Pμk
(Tj+1 > n− k),�5�

����� μk(x) := Pνj (Xk = x|Tj+1 > k) 
�� x ∈ V (j+1)� �
��� S 
� )�
�� ��	 �� �
���� �

�8�( �� ���� ���� μk ≤ 2νj+1 ���� �����
�� k ��+�
����� ������ '�� ��� ���� k( �� )�	
���� �5� ��� ����� ����	

2Pνj(Tj+1 > k)Pνj+1(Tj+1 > n− k) = 2Pνj(Tj+1 > k) (λ(j+1))n−k.

?����( �� )����� ������	�

λ(j) ≤
(
2Pνj (Tj+1 > k) (λ(j+1))−k

)1/n

λ(j+1)

��	 ������� ��� ������
�� ���� ����
�� n→ ∞� �

;������ �����
�� 
� ��� ���� � �
��� ������ 
� �
�
��	 ��	 ���� ����� 
�� ��
� �
���
$���� 
� �� ������
�� �
�������� �� ��
� �������� 
�� 	
*����� �
�	� �
 ��������
� ����������
:� ����
��  ""( E�� I6�"# ��	  .( E�� 3( J3( $������ 3�!# �� ��� ������	 �� ��� �����
$�� ������ ��� ���	
�� ��������	 ������� �� � ����
����� ������ :� ��� 	
�����
-� ���
�
�������� �� ���( �
�� ��� �
 ��� ��
� ������� 
�  "!#( � �
�� ������ �� ��� �
�� ���	�	
�� ����� � ������ V (i)(m) 
�� ��� )��	 1 ≤ i ≤ n ��	 m ∈ M (i)� $�
� ������ 
� ����
����
�
� ���� ��� ��� 
�  !8( /�����
�
�� 3�8#�

��, ���" +(2( '�� 1 ≤ i ≤ n, N := N (i)( �� 	�)�� ��� 
�����
�� �����
�� ����
������K��
�� �
���&

ξ
(i)
0 := τNc

ζ(i)n := inf
{
k ≥ ξ(i)n |Xk ∈ N

}
ξ
(i)
n+1 := inf

{
k ≥ ζ(i)n |Xk ∈ N c

}
, n ≥ 0.

$�� �������� �
��� ξ
(i)
n ���� ��� ������ ���� � ��� ������ 
� �
�
��	( ��
�� ��� ��
�

�
��� ζ
(i)
n ��� ��� ������ �� ��
�� � ������ 
� ��
�� $�� ���	�� �����	 ���
�� ���� �� 	�

��� �����
�� ��������� �� ������� �
 ��	�� i ��� 
����	� ����� ������� ��
�� �� �� ��	�� i
���� ��� ��� ���� �������	 �� ���� ������ ������� 4�
� ��	 �������� �
��� ����� ��
��
	�
�
��� ����� 
� �� ��� �� �� 
��� ��� ������ �� ������� �
����� �
��
�� � �������
���	
����� � ������ ��� ������ �������
���	 ���� A���� !�!1��

6� ��
� ����
��( �� �
�� 
���� �� ζ
(i)
0 
�� ��� )��	 i( ���� ��
�
�� ζ0 := ζ

(i)
0 �����
���(

��� ����� 
�� ��� ���������
� ������� ��� ����� �
��� �
�� �� ���	�	 �� �����

'�� ���� ������ V (i)(m), m ∈M (i)( ��� �� 	�)��

�.� sm = s(i)m := argmins∈∂+V (i)(m)E(s) = argmins∈∂+V (i)(m)E(z∗(m, s)),

����� ��� �����	 �����
�� 
������ 
��� A���� !�!1�

�8�"��& +(3( !�� m ∈M (i)� "
��

lim
β→∞

1

β
lnErζ0 = E(sm)− E(m)

��� ��� r ∈ V (i)(m)�
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� 	
���	 ��
����

'�� ��� ����� ����	( �� ���	 � ������ 
���  "!#( ��
�� 
� ��� �����
�� 
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�"*"!���" +(4 ���� ��
� $������ �
�� 
�  "!#�( ��� ��� 1 ≤ i ≤ n, β ��/�������

���
� ��� t > 2i−1 exp(β(E(sm(i−1) )− E(m(i−1)) + 2i|S|γβ))�
sup

x∈M(i−1)

Px(τM(i) > t) ≤ exp(−Δβ)


���� ���� ���
 � 	������� �������� Δ� �
��� M (0) = S �
���� �� ���������

$�
� �
�� ��� �� ���	 �� ���� ��� 
�����
�� �������

��&&� +('5( ��% 1 ≤ i ≤ n, m ∈ M (i) ��� r ∈ V (i)(m)� "
��� ��� ��� β ��/�������
���
� ��� t > 2i exp(β(E(sm)− E(m) + 2(i+ 1)|S|γβ))� �� 
���� ���� �
��

Pr(ζ0 < (i+ 1)t) ≥ 1

4
.

������ A�� �� )��� ���� ���� �� ��� ������ ������� 
�� m ��
�� ����� �� m(i) �� ��+�
�
����� 	������
�� ��� ������ 
����
�� �� ���m′ ∈M (i)\{m} �� �� �� ���� E(sm)−E(m)
�
�
��� ����� ��� ������ 
� M (i)� $�
� �*���� ��
���� ��� ������ V (i)(m) ��	 
�� �����
����	��� ��� ��� 	
���
���
�� �
 ζ0 ���� �����
�� 
� m( 
�� ��
� 	
���
���
�� 	��� ���
	����	 �� ��� ������ ���	����� ����
	� �
 V (i)(m)∪∂+V (i)(m)� :��� �����
�� ��� ����
�
��� ������
�
��( ��� �������� Δ ��� ���� ������	 ��� 
� ��
�� ���
�
�� ��
�� ��+���

�� ��� ��������� �� ��� m = m(i) �����
����

'
� t > 2i exp(β(E(sm)− E(m) + 2(i+ 1)|S|γβ)) ��	 T := it� �
���

E(sm)− E(m) ≥ E(sm(j))− E(m(j))


�� ����� 1 ≤ j ≤ i( �� 
�
��

Pr(τM(i) ≤ T ) ≥ Pr(τM(i) ≤ T, τM(1) ≤ t)

≥ Pr(τM(1) ≤ t) inf
x∈M(1)

Px(τM(i) ≤ (i− 1)t)

≥ Pr(τM(1) ≤ t) inf
x∈M(1)

Px(τM(2) ≤ t) inf
x∈M(2)

Px(τM(i) ≤ (i− 2)t)

���

≥
i∏

j=1

inf
x∈M(j−1)

Px(τM(j) ≤ t)

≥ (
1− exp(−Δβ)

)i
≥ 3

4


�� β ��+�
����� ������ '����������( 
�� β �� ����� ���� Pr(τM(i) < τm) ≤ 1/4( �� )�	
����

Pr(τM(i) ≤ T ) = Pr(τM(i) = τm ≤ T ) + Pr(τM(i) ≤ T, τM(i) < τm)

≤ Pr(τm ≤ T ) + Pr(τM(i) < τm)

≤ Pr(τm ≤ T ) +
1

4
.

�� ����
�
�� ���� ���
�����( �� ����
�

Pr(τm ≤ T ) ≥ Pr(τM(i) ≤ T )− 1

4
≥ 1

2
.
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 ��

?����( ����� m 
� �
� 
� �
�� T �
�� �� ����� ������
�
�� 1/2 ���� �����
�� 
� r� �
���
m = m(i)( �� 
������ ����

Pm(ζ0 ≤ t) ≥ Pm(τM(i+1) ≤ t) ≥ 1− exp(−Δβ) ≥ 1

2


�� β ��+�
����� ������ ?����( ����� sm 
� �
� 
� �
�� t �
�� �� ����� ������
�
�� 1/2 ����
�����
�� 
� m� �� ����
�
�� ��� ���
�����( �� )����� ����
�

Pr(ζ0 ≤ (i + 1)t) ≥ Pr(ζ0 ≤ T + t|τm ≤ T )Pr(τm ≤ T )

≥ Pr(τm ≤ T )Pm(ζ0 ≤ t)

≥ 1

4
,

��
�� ������ ��� ���
�� �

������ $�� "
����� )�0( C�
�� ��� ����� %��� �����( �� 
�
��

Er(ζ0) ≤ (i + 1)t
∑
n≥0

(n+ 1)Pr (n(i+ 1)t ≤ ζ0 < (n+ 1)(i+ 1)t)

= (i + 1)t
∑
n≥0

(n+ 1)
(
Pr (ζ0 ≥ n(i+ 1)t)− Pr (ζ0 ≥ (n+ 1)(i + 1)t)

)
= (i + 1)t

∑
n≥0

Pr (ζ0 ≥ n(i+ 1)t)

≤ (i + 1)t
∑
n≥0

(
max
x∈V

Px (ζ0 ≥ (i+ 1)t)

)n

≤ (i + 1)t
∑
n≥0

(
3

4

)n

= 4(i+ 1)t,

����� t := 2i exp(β(E(sm) − E(m) + 2(i + 1)|S|γβ)) + 1� �
��� γβ → 0( �� ��� 
� ���
�
�
�

lim
β→∞

1

β
lnErζ0 ≤ E(sm)− E(m)


�� ��� r ∈ V (i)(m)�

$���
�� �� ��� ����� ����	( 	�)�� � �������� �
 �����
�� �
���( �
-� ρ0 := 0 ��	

ρn := inf{k > ρn−1|Xk = m �� Xk ∈ ∂+V }

�� n ≥ 1� $��� Zn := Xρn ( n ≥ 0( 
���� � ������ ���
� ��� �����
�
�� ������
�
�
�� �

��
�� ���� �����
�� 
� m ��� �� ���
����	 �
�� ��� ���� �
 /�����
�
�� "�3( ������

P(Z1 ∈ ∂+V (i)(m)|Z0 = m) = Pm(ρ1 = ζ0)

= Pm(ζ0 < τm)

≤
∑

s∈∂+V

Pm(τs < τm)

≤ K(β) e−β(mins∈∂+V E(z∗(m,s))−E(m)−2γβ)

= K(β) e−β(E(sm)−E(m)−2γβ)

����� K(β) → K ∈ (0,∞) �� β → ∞� '������ 	�)�
�� ν := inf{k ≥ 0|Zk ∈ ∂+V }( ��
�

���
�� 
� ����
���
�� �
�� � �������
� ��
��� �������� ����

Pm(ν > n) ≥
(
1−K(β) e−β(E(sm)−E(m)−2γβ)

)n−1

.



�� ������ 	�
����� 	
� 	
���	 ��
����

;� � �����������(

Emζ0 =
∑
n≥1

Em(ρn − ρn−1︸ ︷︷ ︸
≥1

)1{ν≥n} ≥
∑
n≥1

Pm(ν ≥ n) ≥ K(β) e−β(E(sm)−E(m)−2γβ).

'�� ���
����� r ∈ V ( �� ��� 
�
��

Erζ0 = Erζ01{ζ0≤ρ1} + Erζ01{ζ0>ρ1}
≥ Er

(
Er(ζ01{ζ0>ρ1}|Xρ1 = m)

)
≥ Er1{ζ0>ρ1}Emζ0

≥ Pr(ζ0 > ρ1)K(β) e−β(E(sm)−E(m)−2γβ)

≥ 1

2
K(β) e−β(E(sm)−E(m)−2γβ)


�� ��� ��+�
����� ����� β( ������� limβ→∞ Pr(ζ0 > ρ1) = 1 �$������ "�2�� '
�����( ��
���
�� �����
���� ��	 ����
�� β ���	 �� ∞( �� ���
�� �� ��� 
������
��

lim
β→∞

1

β
lnErζ0 ≥ E(sm)− E(m)

��
�� ��������� ��� ����
� �

6�  !"#( E(sm) − E(m), m ∈ M (i), 
� ��
����	 �� �� ��� 	���� �
 ��� ������ V (m)�
$����
���( /������� 2 
��� ��� 6����	���
�� ���	� ���� ��	 �� ��� ������ ������	�����

�� �
 ��� ������ ������
��� �� 	����
�� �
 ��� ���
� ����	
�� �
���� 
� � ���� ����
��
���� 4����
����( ����� 
� �� ��
������ ����� 
�� ��� �
��� ����� 
� 	
*����� ������� �������
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�����
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:
�� ��� ���� �
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�
��( �� �
�� ��� �� ���� �� ����
	� �� ������
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��� 	�)�
�
�� �
 ��� �������
�� ���� ���� ��� ���� ��������	 ��	 �� ���� ������
	
������	 
� ��� 6����	���
��� :� �
�� 
������ 	�)�� ��	 ���	� ���������
� ����
��� �

��� ��
�
��� ������� X = (Xn)n≥0� $���� ��� ����
��	 �� �����
�� 	
*����� ������ �

��������
�� 
� ��� ����� ���� ���� ���� ����� ���� �
 ��� ������� �
 � ������ ����� ����
��� �
�
��	 �� X � $�� ���
���
�� ���
�	 ��
� �������� 
�( �� ��� ��� ���	( �� ���
�
�
������ �����
��� ������� �������
�� �
 ��� ������ ���	����� ��	 ��� �����
�� �
 X ���

� $������ "�.� ��	( �� ��� ����� ���	( �� 	����
�� ������
�� 
������� �
 ��
� ������� ��
����
�� �� ��
����� ���������
� �������

6� ��� ���������� 	�)�
�
�� �
 ���������	 ����
��� �
 X ( �� �
�� 	
��
���
�� �������
��� ���
����&

• ; ���������� 	��������
 ��������
�� ����( 
�� � )��	 ����� ��	 ���� n( ����� �����
�
 ��� ������ ��� ��
�
��� ���
� �
�
�� �� �
�� n ��	 ���� ���� ��
�	� 
�� �����
�����
�� �
��
� � �������

• ;� ����������� ����
�� ����( ��
�� ���� ����
�� ����� �
 ��� �
�
��	 �������( 
������
��
�	� ��� ��%���� �
��� �
��
� � ������ �� �����
�� � �
�
� %��� �����

;�������( ��� 	�)�
�
�� �
 ����� ��������
��� �� � ������ ����� i 
� � �
���� ���� ����
��
����	 ������� ���
� ����� �����( 	�����	 S(i) ����� ��	 ��� �������� �
 ��
�� �� ����
����� i ����������( ���� �����
��� ��� �������
���	 ������ �� ����� i �� ���� �� ��� �
�
��
�
 ����� ������� ���� ���� 
����	 �� �� ����
�� ����� ��	 ����� ������ 
� ���	
�� �� �����
i ������� ���
� �
�
�� ��� ��� ��������	 �� ��
� ������
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 ��

��, ���" -('( '
� 1 ≤ i ≤ n( ��� S(i) := {m(j) ∈M (1)| l(j) > i} ∪N (i) ��	

V (i)(s) :=

⎧⎪⎨⎪⎩
V (i)(m(j)), 

 s = m(j) 
�� ���� j ≥ i

V (j)(m(j)), 

 s = m(j) 
�� ���� j < i

{s}, 

 s ∈ N (i)


�� s ∈ S(i)� $��� 	�)��

Y
(i)

n :=
∑

s∈S(i)

s1{Xn∈V (i)(s)}, n ≥ 0,

��	 Y (i)
n := Y

(i)

σn
, n ≥ 0,

����� σ0 = σ
(i)
0 :≡ 0 ��	

σn = σ(i)
n := inf

{
k > σn−1

∣∣∣Y (i)

k 
= Y
(i)

k−1

}

�� n ≥ 1� :� ���� Y

(i)
= (Y

(i)

n )n≥0 ��	 Y (i) = (Y
(i)
n )n≥0 ��� �

��
���� �
��� $12( ��	

��� ����������� �

��
���� �
��� $112( $�� ����� i( �����
���	 �
�� X = (Xn)n≥0�

��( �����
�� 
� �� ���
����� ������( ��� ��
�
��� ���
� ����� ����� 
�� � �
�� ζ0 = ζ
(i)
0 ���

	�)��	 
� ,�)�
�
�� "�5� ��
��� 
� %���� �
� ���� �������
���	 ������ k1,..., kl �����
��

� �������
� �
�� 
� ���� �
 ����� ������� �� ������� ������ �� �
�� ξ1 = ξ
(i)
1 � $���� 
�

����� 
�� ζ1 − ξ1 �
�� ��
�� ��
��� 
� ����� �� 
� � �
�
��� ������� �� ��
�� 
��� X

�� 
�� ��������
�� Y
(i)

�� ����� i( �� �����	 ��� ����� ������ V (i)(s) 
�� s ∈ S(i) �� ���
�
���� ��������� ��	 �����
��� �
�� �� 
�
�����
�� ����� ��� ����� �����
�� �
 X �
��
�

� ������� Y
(i)


� � %��� ������� �� S(i) �
�� �������
�� ��%���� �
��� σn+1 − σn, n ≥ 0(
��
�� 	� ��� ���� 	����	 �� ��� ������ ��� ���� �� ��� ������ �
 �������� ��	 ��
�� $��
;;E ���� 
� ��� ����		�	 ���
�( �
-�

Y
(i)

n =
∑
j≥0

Y
(i)
j 1{σj≤n<σj+1},

�
�
�� ��� ������ ���� �� %���� ������& �����
�� 
��� ��� �
�
��� �
 � )��� ������ 
�
����� �� ������ k1,..., kl ∈ N (i) ��	 ���� ������	� �� ��� �
�
��� �
 � �����	 ������(
��	 �� ���

D
 ������( �� ����� ������������ ��� �
�� ����� 
� � �������
���	 ����� �� 
� � ������
�����	 � ��� ��	�� ���������� ����� 
� ���� ����� �������	 �� ��� �
�� ����� 
� � ������
�����	 � ���������� ����� �
 �
���� ��	��� $���( ���� ������ ��� �� ���� �� 
������������
��	 �
 �
���� 
��������� 
�� ��� ������
�� �
 ��� �������� :� ������� 
�� ���� �����������

�� ��� �������� '
���( 
� ��� �����	����	��� 	�)�
�
�� ����
���	 
� ��� 6����	���
��
��	 ���	 
� /���
��( ���� ��
�	 ����� �� �
 ����� �����
�
���� ���
�
�� �
 ��� �������
��	 ��� ���� �������� 
� �
�� �
 ��� ���� �� ����
	� � 	�)�
�
�� �
 �� ���� ���
���� ��
���� �� ����
��� �� � �����	����	��� ���� �����	( � �������� ����
�
��
�� �
 ��� �����
����� ���� 
� �� ���
������ �
 ����� s ∈ S �� � ��������� �
� � ������ �����
��� 
�
��
���� ������ 
����
�� ��

{
V (i)(m),m ∈M (i)

}
������� ����� 
� ��
���� �� ���
��� ���

������� ��� ��� �� ���
�� �������
���	 ������ �� �����

$�� ����
����� ���������
 �������� ��	 
�� �����
���	 �������
�� �
��( 
�� X 	�)��	
��

S(q, n) := Eπ cos
(
q|Xn −X0|

)
��
�� | · | ��
�� 4���
	��� 	
������ 
� ����� ������ ��	

τq(ε) := inf{n|S(q, n) ≤ ε}, ε > 0,
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 S(q, n) �� � ������� �
 
��������� �������
�� �������
��� 
�
�
�� ����� �
 � ������
���
�� ������ ��	 
�� ����� n �
�� ����� �����	( �� ��
�� ��
��� ������ �� )����  !"#�


�"*"!���" -(+( ��� ���
 1 ≤ i ≤ n �
��� �� � �������� Δ(i) ���
 �
��

�9� sup
n≥0

Pπ

(
Xn 
= Y

(i)

n

)
≤ e−Δ(i)β.

1� � �����.������ ��� ��� 
���� ε > 0� �
� ����
����� ���������
 ��������� �� X ��� Y
(i)

��3�� �� �� ���� 4ε ��� β ��/������� ���
��

������ C�� A���� !�! �� 
�
��

Pπ(Xn 
= Y
(i)

n ) =
∑

s∈S(i)\N(i)

Pπ(Y
(i)

n = s)
∑

x∈V (i)(s)\{s}

π(x)

π(V (i)(s))

≤
∑

s∈S(i)\N(i)

Pπ(Y
(i)

n = s)
∑

x∈V (i)(s)\{s}

π(x)

π(s)

≤
∑

s∈S(i)\N(i)

Pπ(Y
(i)

n = s)
∑

x∈V (i)(s)\{s}
e−β(E(x)−E(s)−2γβ)

≤ max
s∈S(i)\N(i)

|V (i)(s)| max
x∈V (i)(s)\{s}

e−β(E(x)−E(s)−2γβ).

$�
� ������ �����
�� �9� ������� E(x) > E(s) 
�� ���� x ∈ V (i)(s)\{s}, s ∈ S(i)\N (i)�
F�� ��� β �� �� ����� ���� e−Δ(i)β ≤ ε 
�� � �
��� ε > 0 ��	 ������� ����

Eπ cos
(
q|Xn −X0|

)
=

∫
{Xn=Y

(i)
n ,X0=Y

(i)
0 }

cos
(
q|Xn −X0|

)
dPπ

+

∫
{Xn �=Y

(i)
n }∪{X0 �=Y

(i)
0 }

cos
(
q|Xn −X0|

)
dPπ

≤
∫
{Xn=Y

(i)
n ,X0=Y

(i)
0 }

cos
(
q|Xn −X0|

)
dPπ + Pπ(Xn 
= Y

(i)

n ) + Pπ(X0 
= Y
(i)

0 )

= Eπ cos
(
q|Y (i)

n − Y
(i)

0 |
)

−
∫
{Xn �=Y

(i)
n }∪{X0 �=Y

(i)
0 }

cos
(
q|Y (i)

n − Y
(i)

0 |
)
dPπ + 2ε

≤ Eπ cos
(
q|Y (i)

n − Y
(i)

0 |
)

+ 4ε

��	( �� � �
�
��� ��������(

Eπ cos
(
q|Y (i)

n − Y
(i)

0 |
)

≤ Eπ cos
(
q|Xn −X0|

)
+ 4ε.

$�
� ��������� ��� ����
� �

2�!� :��&�$;���1"# 
�"*����( 6� �������( ���� ���������	 ���
�� ��� �� ������ ����
���
��� $����
�
�� ������
�
�
�� �
 ��� ;;E ��� ���� 	����	 �� ��� ������� �����( 
���
��� ������� ������( ��� ���� �� ��� �������� ����� 
��� ���� ������( ������� �����
�
��
������
�
�
�� �
 ��� ;E 	����	 �� ��� ������� ��%���� �
��� ��
�� 
� ���� 	����	 �� ���
����
���( ��� ������� ��	 ��� ���� ������ D� ��� ����� ���	( �
��� ������� ��� 	�)��	

� ���� � ��� ���� ��������
����� ������ ������ ��������( 
���( �
�� ������
�
�� ���	
�� ��
��� �� β → ∞( ��� �
�
��� �
�� �� ������	 
��� �������� 
��
	� ��� ������ ��
��� ���
������ 
� ��
�( ��	 �
���( 
����������( ��� ��
� ����� �� ��� ����� ����	��� ������ ������



���	�	
�

 ��

��� ��� �
�� ��� �������� ������( ��� ;;E �
�� �� ����� ����� �� �������� �� � �����
�
������ ���
� �� S(i)� ;���( ��� ��%���� �
��� 	����	 �� ��� ���� ���� �
� ��� ����
��	 ��� ������� ������ $�
� ����� ���� ��� ;E ��������� �� � ���
������� ���
� �
��
���
������� ���
�� ��� 
�� �������  !#�&

��, ���" -(-( >
��� ��� �������� ��������� ��� S( ��� (Mn, Tn)n≥0 �� � �
���
���
���������� ����������� ������ ���
� �� S × N( �
�� �����
�
�� ������ Q(s, ·) ����
	����	
�� �� ��� )��� ���������( �
-�( 
�� ��� n ≥ 0, s ∈ S ��	 t ≥ 0(

�!7� P(Mn+1 = s, Tn+1 ≤ t|Mn, Tn) = Q(Mn, {s} × [0, t])

���	�� /�� Sn :=
∑n

i=0 Ti 
�� n ≥ 0 ��	 ν(t) := max{n ≥ 0|Sn ≤ t} (max ∅ := 0) 
��
t ≥ 0� $��� Zn := Mν(n), n ≥ 0, 
� �����	 �����4����� �
��� �
�� �������� 4�����
�
��� (Mn)n≥0 ��	 ��5���� �� 
�����
 ����� T0, T1,...�

F��� ���� �����
�� �!7� ���	� 
* M = (Mn)n≥0 
���� � ���������� �����������
������ ���
� ��	 ��� (Tn)n≥0 ��� ���	
�
������ 
�	����	��� �
��� M ���� ���� ���
	
���
���
�� �
 Tn ���� 	����	� �� Mn−1,Mn 
�� n ≥ 1 �
� � ���������� �����������
�������( ��	 �� M0 
�� n = 0� F��� 
������ ���� �� ���� ����
��
-�	 �� ��� ���� �����
���	
�� �
��� ���� ������ 
� N ���� �
�����	 �
 (0,∞)��

B����� 
��� �.� ��� 	�)�
�
�� �
 sm 
�� m ∈ S(i)\N (i) ��	 ���
�� ���� ��� �����	
�����
�� ����� ����
�� E(z∗(m, sm)) < E(z∗(m, s) 
�� ��� s ∈ ∂+V (i)(m)\{sm}� '������
������ 
��� ��� ���
� �������
��� ���� p∗(r, s) = limβ→∞ p(r, s) ��
��� 
�� ��� r, s ∈ S ��	

� ���
�
�� 

 E(r) ≥ E(s)� $�� 
�����
�� ������( ������
�� ��� ��������	 ����������� 
��
;;E( ���)��� 
� ����
����� ���� � ������ V (m)( m ∈ S(i)\N (i)( 
� ������ �� �� ��
� �
�
sm�


�"*"!���" -(.( ��� ���
 1 ≤ i ≤ n ��� �� β → ∞� �
� ����� i 112 Y (i) ������
��

�� � 4����� �
��� Ỹ (i) = (Ỹ
(i)
n )n≥0 �� S(i) ���
 ���������� 	������������ p̃(r, s) = p̃i(r, s)

������ ������ �
�� ��

lim
β→∞

P(Y
(i)
n+1 = s|Y (i)

n = r, Y
(i)
n−1 = mn−1,..., Y

(i)
0 = m0) = p̃(r, s)

��� ��� m0,...,mn−1, r, s ∈ S(i) ��� n ≥ 0� 6� 
��� p̃(r, ·) := δsr �� r ∈ S(i)\N (i)� ���

p̃(r, ·) :=
1

1− p∗(r, r)

⎛⎝ ∑
s∈N (r)∩N(i)

p∗(r, s) δs

+
∑

s∈S(i)\N(i)

⎛⎝ ∑
r′∈N (r)∩V (i)(s)

p∗(r, r′)

⎞⎠ δs

⎞⎠ ,

�� r ∈ N (i)�

Ỹ (i) = (Ỹ
(i)
n )n≥0 
� �����	 ��� ����	����� 5��	 �
��� �� ����� i �����
���� F��� ����(

���
�����( 
� 
� ��� 
���	��
���� 6� ��� ���� �����
��� ������( ��� ��������
�� �������
���	(
��	 
�� 
���	��
�
�
�� ������� ��� �
 ��� 
��� {m1,...,mk, s} 
�� � �������
�� m1,...,mk ∈
S(i)\N (i) ��	 ���� s ∈ N (i) ���
�
�
�� s = sm1 = ... = smk

�

������ '
� 1 ≤ i ≤ n ��	 ��
�� Yn 
�� Y
(i)
n � $�� )��� ���� 
� �� ���

� ����( �� β → ∞(

P(Yn+1 = s|Yn = r, Yn−1 = mn−1,..., Y0 = m0) = Pr(Y1 = s) + o(1)


�� ��� m0,...,mn−1, r, s ∈ S(i) ��	 n ≥ 0� 6
 r ∈ N (i)( ���� Yn = Xσn ��	 ��� ������
�������� �
 X ����
	� �� �
�� ��� ���� �������� ������

P(Yn+1 = s|Yn = r, Yn−1 = mn−1,..., Y0 = m0) = Pr(Y1 = s).



�� ������ 	�
����� 	
� 	
���	 ��
����

; �
���� ���� ���� 
� ���	�	 

 r ∈ S(i)\N (i)� '�� ��� s ∈ S(i), x ∈ V (i)(r) ��	 n ≥ 0( ��
����

P(Yn+1 = s|Yn = r,Xσn = x)

= Px(Y1 = s, τr < σ1) + Px(Y1 = s, τr > σ1)

= Pr(Y1 = s)Px(τr < σ1) + Px(Y1 = s, τr > σ1).

$�� ���� ��� ������	� ��� 
������ �� ����	�	 ��

Pr(Y1 = s)Px(τr < σ1) ≤ Pr(Y1 = s) ��	 Px(Y1 = s, τr > σ1) ≤ Px(σ1 < τr).

'�� ��� ���� ������
�
��( $������ "�2 �������

Px(σ1 < τr) ≤
∑

z∈∂+V (i)(r)

Px(τz < τr)
β→∞−→ 0.

E�����������( �� β → ∞(

Pr(Y1 = s) =

⎛⎝1−
∑

z∈∂+V (i)(r)

ε̃(x, r, z, β)

⎞⎠Pr(Y1 = s) + o(1)

≤ (
1− Px(σ1 < τr)

)
Pr(Y1 = s) + o(1)

≤ P(Yn+1 = s|Xσn = x, Yn = r) + o(1)

≤ Pr(Y1 = s) + o(1),

��	 �����
���

P(Yn+1 = s|Yn = r, Yn−1 = mn−1,..., Y0 = m0)

=
∑

x∈V (i)(r)

P(Yn+1 = s|Xσn = x, Yn = r)P(Xσn = x|Yn = r, Yn−1 = mn−1,..., Y0 = m0)

= Pr(Y1 = s) + o(1).

6� ����
�� �� ���

� ���� Pr(Y1 = s) = p̃(r, s) + o(1) 
�� ��� r, s ∈ S(i)� 6
 r ∈ S(i)\N (i)(
���� σ1 = τN(i) ��	 Y1 = Xτ

N(i)
� �
��� E(z∗(r, sr)) < E(z∗(r, s)) 
�� ���� sr 
= s ∈

N (i) ∩ ∂+V (i)(r)( �� ��� 
�
�� �
�� ��� ���� �
 $������ "�!

Pr(Y1 
= sr) = Pr

(
τs < τsr 
�� ���� s ∈ N (i)\{sr}

)
≤

∑
sr �=s∈N(i)

Pr

(
τs < τsr )

≤
∑

sr �=s∈N(i)

ε̃(r, sr, s, β)

= o(1),

�� β → ∞ ��	 ���� Pr(Y1 ∈ ·) → δsr = p̃(r, ·) �� ���
��	� 6
 r ∈ N (i)( ���� �
����
Y1 = s ∈ N (r) ∩N (i)( �� Y1 = s ∈ S(i)\N (i) ��	 Xσ1 = r′ 
�� ���� r′ ∈ N (r) ∩ V (i)(s)�
6� ���� 
������ ����

Pr(Y1 = s) = Pr(Xσ1 = s) =
p(r, s)

1− p(r, r)
=

p∗(r, s)
1− p∗(r, r)

+ o(1)



 s ∈ N (r) ∩N (i)( ��
��

Pr(Y1 = s) =
∑

r′∈N (r)∩V (i)(s)

Pr(Xσ1 = r′) =
∑

r′∈N (r)∩V (i)(s)

p∗(r, r′)
1− p∗(r, r)

+ o(1)


� ��� �����	 ����� �



���	�	
�

 ��

?��
�� ����� ���� Y (i) ������� ��������
����� �� � ������ ���
�( �
-� ��� %��� ���
�

Ỹ (i)( 
� 
� 
�
��� ���� �� ���

� �
�� ��� ���� �
 ��� ���� �
���� ����� ���� ��� ��������	

�
���
��� ;E
(
Y

(i)

n , Y
(i)

n+1

)
n≥0


� ��������
����� ���
�������
���

��&&� -(/( ��� ���
 β > 0� �
� ��5���� ����� σn+1 − σn� n ≥ 0� �� �
� 12 Y
(i)

���
������������� ����	������ 
���� Y (i)� "
� ����������� ��� �� σn+1 − σn ��	���� ���� ��

(Y
(i)
n−1, Y

(i)
n , Y

(i)
n+1) ��� ��������

�!!�

P
(
σn+1 − σn ∈ · |Y (i)

n−1 = x, Y (i)
n = y, Y

(i)
n+1 = z

)
= Q((x, y, z), · )

:=

{
#���(1 − p(y, y)), �� y ∈ N (i)∑

s∈V (i)(y),s∼x Ps(σ1 ∈ · |Y (i)
1 = z)Px(Xσ1 = s), �� y /∈ N (i)

��� ��� x, y, z ∈ S(i) ���
 P(Y
(i)
n−1 = x, Y

(i)
n = y, Y

(i)
n+1 = z) > 0 ��� n ≥ 1�

������ $�� ������
��� 
����� ���
�� ���� ������
�� ����( �� ��� ��� ���	( �� ����� ���
����� y ∈ N (i) ���� �� �
�
��	 ������� ��� ������ x, z ∈ S(i)\N (i) �A���� !�!1� ��	

����( �� ��� ����� ���	( ��� ��
�
��� ���
� X ��	 
�� ��������
�� Y
(i)

��
��
	� �� ���

����� ����� � �������
���	 ����� 
� �
�( ��
�� ���	��� ��� ������ �������� �
 Y
(i)

��
����� ������� '������ 	���
�� ��� ��
���	� �

6� ��	�� �� 
�������� ��� ���� ������( ��� 0 = σ̃0 < σ̃1 < ... �� �� 
������
�� �������� �

���	�� ���
����� ���� ���� 
�� 
��������� σ̃n+1−σ̃n, n ≥ 0( ��� ���	
�
������ 
�	����	���

�
��� ��� ��������
� %��� ���
� Ỹ (i)� ��������( ��� ��� ���	
�
���� ��� �
 σ̃n+1 −
σ̃n 	����	 ���� ��

(
Ỹ

(i)
n−1, Ỹ

(i)
n , Ỹ

(i)
n+1

)
��	 �� ����� �� Q

((
Ỹ

(i)
n−1, Ỹ

(i)
n , Ỹ

(i)
n+1

)
, · )( �
�� Q

�� 	�)��	 
� �!!�� $��� ((Ỹ
(i)
n , Ỹ

(i)
n+1), σ̃n+1)n≥0 
���� � ������ ������� ������� ��	(

Ỹ
(i)
ν̃(n), Ỹ

(i)
ν̃(n+1)

)
n≥0

� ���
������� ���
�( ����� ν̃(n) := sup{k ≥ 0|σ̃k ≤ n}�


�"*"!���" -(0( ��� ���
 1 ≤ i ≤ n� ((Y
(i)
n , Y

(i)
n+1), σn+1)n≥0 ������
�� �� �
� 4�����

������� 	������ ((Ỹ
(i)
n , Ỹ

(i)
n+1), σ̃n+1)n≥0 �� �
� ����� �
��

lim
β→∞

Py0

((
Y

(i)
k , Y

(i)
k+1

)
= (yk, yk+1), σk+1 = ik+1, 0 ≤ k ≤ n

)
Py0

((
Ỹ

(i)
k , Ỹ

(i)
k+1

)
= (yk, yk+1), σ̃k+1 = ik+1, 0 ≤ k ≤ n

) = 1

��� ��� y0,..., yn+1 ∈ S(i)� 0 < i1 < ... < in+1 ��� n ≥ 0 ���
 �
�� �
� ����������� ��

	�������� ����
������� (Y
(i)

n , Y
(i)

n+1)n≥0 �� ����	��������� �����4�������� �� �
� �����
�
��

lim
β→∞

Py0

((
Y

(i)

k , Y
(i)

k+1

)
= (yk, yk+1), 0 ≤ k ≤ n

)
Py0

((
Ỹ

(i)
ν̃(k), Ỹ

(i)
ν̃(k+1)

)
= (yk, yk+1), 0 ≤ k ≤ n

) = 1

��� ��� y0,..., yn+1 ∈ S(i) ��� n ≥ 0 ���
 �
�� �
� ����������� �� 	��������

������ $�� )��� ������
�� ��
�� ���
��� �� /�����
�
�� 2�3( ���� ���� 
� 
���
��( �
��
ν(n) := sup{k ≥ 0|σk ≤ n}(

lim
β→∞

Py0

((
Y

(i)
ν(k), Y

(i)
ν(k+1)

)
= (yk, yk+1), 0 ≤ k ≤ n

)
Py0

((
Ỹ

(i)
ν̃(k), Ỹ

(i)
ν̃(k+1)

)
= (yk, yk+1), 0 ≤ k ≤ n

) = 1


�� ��� y0,..., yn+1 ∈ S(i) ��	 n ≥ 0 ���� ���� ��� 	����
����� 
� ���
�
��� $����
��� ���
�����	 ������
�� 
������ ���� )����� ���
�� ����

Y
(i)
ν(n) =

∑
j≥0

Y
(i)
j 1{σj≤n<σj+1} = Y

(i)

n



�� ������ 	�
����� 	
� 	
���	 ��
����


�� ���� n ≥ 0� �

�� �� ���� ����� ����( �������� ��������
�� ��������� ����
�� ��� ���� �
 ��� ������
��������( ���� 
� ���	� ���� �� ��������� �
 ��
� �
�	 ������� �� ���
������� ���
��� 
�
�� ��������
� ����� �� ��� ����������� ���
����

2�"� 
���*�"���� % <�&*!( ;� 	
������	 �� ���� ������ 
� ��� 6����	���
��( �� ����
�� )�	 �� ��������
�� ����� �� ��
�� ���
������
�� %���� ������ �� �� ���� ���
���� ��
�� �� ����
� � ������ �
����� �
 ������
�� 
������� �
 ��� �������	 �������� $� ���	��
����
�
�� �� ��
� 
�
����� ��������� ����
��� �� 
������ ����

� ��� ���� <���
������
��
%���= ��	 �� ����
	� � ������� �
 �
���
���	 
�� 
�� ����������� 6� 
� ���
�� �� ��
�� ���
)��� ���� ��� ��
�
��� ���
� X ���
�
�� ��� ����� �
 ���
������
�� %����&

� ���$#����� 6�&*!� ��
�� ����� ������� ������ 
��
	� � ������ ������
�� 
� � �
��

��� ��� ������� 
���� ���� �� 
� ���� �
��� ��
��� ����
�� ��� ��������

� ���$#����� 6�&*!� ��
�� ����� ������� ��� ������� ����
�����( ���� ��� ������
����
�� ������� ����� ������� 
� ���� ����� ���� ��� ����
�� �� ��� ����� ��������
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�
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�
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�	���� *� 6��������
�� �
 
����������� %���� ���
� ������ ������ 
�����
������ %���� ��
��� �������

E������( 
����������� %���� 	
������� �� ��������
�� ������� 
��� ����������( ��
�� 
�����
������ %���� ��� ���� �� �
���	 �� 
����������� %���� 
�� �
���� ��	�� ������� ��	 	�
����� ���� �����
�
��� ������� ��� ��� �
 ���� ��� ���� ���� �
���� ���� ����� ��
����� ������� 
� ��
�� ���� ���� �����	 �� ���������	 
��� ��� ������� $�
� ���
����� ���

�����
�� 	�)�
�
���

��, ���" -(2( :� ��� ��� ������� (Y
(i)
n )n∈N ���
�
�� ����	�������
 5��	� �� ����� ε > 0



 ����� ��
��� � �������� ������ A � S(i)\N (i) �
�� ��� 
�����
�� ��������& '�� ����
m1 ∈ A( ����� ��
��� m2 ∈ A ���� ����

lim
β→∞

1

β

(
ln
(
Pm1

(
Xξ1 ∈ V (i)(m2)

))
− ln

(
Pm1

(
Xξ1 ∈ V (i)(m)

)))
≥ ε


�� ��� m ∈ S(i)\(N (i) ∪ A)� 6� ����� ���	�( 
� 
� ��������
���� ���� �
���� �� ���� 
� A
���� �� ����� 
� �
����
�� 
������	
��� �
�
�� �� �������
���	 ��������

6� �
�� �
 ��� ��
��
��� ���� �� �
�� � �����
�	����	��� 	�)�
�
�� �
 ���( �� ����
��
�� ��� ����( �� 
���	��
�
�
��( ���
������
�� %���� ������ ����� �
�� ���
�
�� ������
�
�
�� �� ��� �����
�
�� ����� �
 ��������
�� ��	 ��� �����
��� ����� �� ����	 ��� ����
�������� $�
� 
� 
� �������� �� ��� �����	����	��� ����
�� �� )����  !"# 
� ��
�� ���
�������������� �
 ���
������
�� %���� ������� �� �� ��� ����
�� ����
������� ;� � ����
��������( ,�)�
�
�� 2�5 ����
	�� �� ��������
��( ������
�
��
� ��	 ���
)���� ��
���
�� 
��
���
������
�� %���� �� �� ��+�
����� ���
���� 
� � ������ ��������
���



���	�	
�

 ��

$�� 
�����
�� ������
�
�� �����
�� 
������ 
�
�����
�� �� ��
�� ������� ��� �
�
��	 ����
����
���� �� ����
	
�� ��� ������
�
�
�� �
 ���
�� � �����
�
�� 
��� V (i)(m) �� V (i)(m′)

�� ��� m,m′ ∈ S(i)\N (i)� 6� 
� � 	
���� ����������� �
 ��� ��������
� ������� 
� ���
����
��� �������
��( ������� /�����
�
�� 2�3�


�"*"!���" -(3( !�� m ∈ S(i)\N (i), sm ∈ ∂+V (i)(m) �� �� ������ �� �.� $����� �
�
����� �� �
� ����� �������� �� V (i)(m) ���
 ������� ����
�(� "
��

lim
β→∞

Pm(Xξ1 ∈ V (i)(m)) = p̃(sm,m) =

∑
r∈N (sm)∩V (i)(m) p

∗(sm, r)

1− p∗(sm, sm)
,

�
���

lim
β→∞

Pm(Xξ1 ∈ V (i)(m′)) = p̃(sm,m
′)+

∑
n≥1

∑
r1,...,rn∈N(i)

p̃(sm, r1)·...·p̃(rn−1, rn) p̃(rn,m
′)

��� ��� ��
�� m′ ∈ S(i)\N (i)�

$�� ���	�� �����	 ���
�� ����( �� p̃(s, r) = 0 �������� E(s) < E(r)( ��� ���� ��� ���
������ ������ ���� ���� ����� �������
���	 r1,..., rn �
�� E(sm) > E(r1) > ... > E(rn) >
E(m′)�

������ A�� �� )��� ��
�� ��� ���� Pr(Xξ0 ∈ V (i)(m)) = o(1) �� β → ∞ 
�� ��� r ∈ N (i)

���� ���� E(r) < E(sm)� F�����( �
��� ��� ���� �������� 
���
�� r 
∈ ∂+V (i)(m)( ���
���� 
��� r 
��� V (i)(m) ���� �������� � ����� s ∈ ∂+V (i)(m) �
�� E(s) ≥ E(sm) > E(r)(
������ ��� ������
�
�� 
�� ���� � ���� ���� �� -��� �� β → ∞� F��
�� 
������ ����

Pm(Y
(i)
1 
= sm) = o(1) �� β → ∞ �� /�����
�
�� 2�3( �� ��� 
�
�� ��
�� ξn = ξ

(i)
n �

Pm(Xξ1 ∈ V (i)(m))

= Psm(Xξ0 ∈ V (i)(m)) + o(1)

= Psm(Y
(i)
1 = m) +

∑
r∈N (sm)∩N(i)

p(sm, r)

1− p(sm, sm)
Pr(Xξ0 ∈ V (i)(m)) + o(1)

= p̃(sm,m) + o(1).

$�� �������
�� 
�� p̃(sm,m) 
� ����� �
 ��� p∗(sm, r) ��� �� ���	 �* 	
������ 
��� ���

������ �
��� 
� /�����
�
�� 2�3� '�� m′ 
= m( m′ ∈ S(i)\N (i)( �� ����
� 
� � �
�
���
������

Pm(Xξ1 ∈ V (i)(m′))

= Psm(Y
(i)
1 = m′) +

∑
n≥1

∑
r1,...,rn∈N(i)

Psm(Y
(i)
1 = r1,..., Y

(i)
n = rn, Y

(i)
n+1 = m′) + o(1)

= p̃(sm,m
′) +

∑
n≥1

∑
r1,...,rn∈N(i)

p̃(sm, r1) · ... · p̃(rn−1, rn) p̃(rn,m
′) + o(1),

��� ���� �
�� �� ������� ������ �� ��� �
��������
���	 ������
�
��� �

6� �������( ��� ����
��� ������ ����� �� ���� � ������ V (i)(m′) 
� ��
������	 �� V (i)(m)(

���� 
�( ��������� �
�� ���
�
�� ������
�
�� �� ��� ��������
� %��� ���
� Ỹ (i) ���	 ����
�� Y (i) �� ��� ����������� ����� β� �
����� 
������	
����� �
��
�� ��� ����� ������(

* ����� ��
��� �� ����� ��� �
� ����� �
 �����
��� 	������
�� ���� 
� N (i) 
��� sm ��
m′� '�� ��� ����� ���� ��
� �
 �������( ��������	 �� � ���� ������� ������ 
� N (i)( ���
�����
�
�� ������
�
�� 	�������� �� -��� ��������
���� 
� β� 6
 ��
� ���� ��� �� ������ ��
�� ��
��	��( ���� �����	 �	
��������
����	��
( ��
� ��� �� �����	 
� � ���� ����
�� ��� ��
��� ���� ������ ������



�� ������ 	�
����� 	
� 	
���	 ��
����

��&&� -(4( !�� m0,m1 ∈ S(i)\N (i) �� ��� �������� ����� ������ ��� ���� 0 ≤ i ≤ n�
7�		��� �
��� �%���� � ������� 	��
 γ = (γ0,..., γk) ���� sm0 �� m1 ��� 
�����
 ��� ��
��
������ ��� V (i)(m1) ��� ���
 �
�� I(γ0,..., γk) = E(z∗(s,m1))− E(sm0)� "
��

lim
β→∞

1

β
lnPm0(Xξ1 ∈ V (i)(m1)) = − (E(z∗(m0,m1))− E(sm0)) .

6��
��� �������
 �
� �%������� �� γ �� ������� �
� ������ ������� ����� �
�� ��	�����
 =
���
 ≤�

F��� ���� I(γ0,..., γk) = E(z∗(sm0 ,m1)) − E(sm0) 	��� 
�	��	 
���� ��� �����	�
����
���	 �������� ����

E(γi) > E(γi−1) 
�� 1 ≤ i ≤ j

��	 E(γi) < E(γi−1) 
�� j + 1 ≤ i ≤ k



 γj = z∗(sm0 ,m1)� :� ���� ���� � ���� �� �	
��������
����	��
 ������� 
� )��� ����		���
��� ������ ����
�� E(z∗(sm0 ,m1)) ��	 ���� 
���� 	��� �� ��� ����� �
�
��� m1� $��
��
������ �
 ���� � ���� ��� �� 
���	 
� ���� "� �� �
���� 	
����
���� ������ ���	�������

������ :
�� γ �� �����	( � ����� ����	 
�� Pm0(Xξ1 ∈ V (i)(m1)) 
� ���
�� ����
��	 ��

������&

Pm0(Xξ1 ∈ V (i)(m1)) ≥ Pm0(Xζ0+i = γi, 0 ≤ i ≤ k)

≥ Pm0(Xζ0 = sm0) e
−βI(γ0,...,γk)−γββ|S|

= (1 + o(1)) e−β(E(z∗(sm0 ,m1))−E(sm0 ))−γββ|S|

= (1 + o(1)) e−β(E(z∗(m0,m1))−E(sm0 ))−γββ|S|.

'�� �� ����� ����	( ��
�� 	��� ��� ����
�� ��� ��
������ �
 � γ �� ���
��	( ��
	�������� ��� ����� 
��� 	
�%�
�� ���� 	����	
�� �� ��� ������ �
 �
�
�� N ( ���( �� m0

������� 1 ��	 ζ0 = ζ
(i)
0 � $�
� ���	� ��

Pm0(Xξ1 ∈ V (i)(m1), N = 0) = Pm0(ξ1 = τV (i)(m1) < τm0)

��	( 
�� k ≥ 1(

Pm0(Xξ1 ∈ V (i)(m1), N = k)

= Pm0(Xξ1 ∈ V (i)(m1), |{τm0 < n ≤ ζ0|Xn = m0}| = k − 1, τm0 < ζ0)

= Pm0(Xξ1 ∈ V (i)(m1), N = k − 1)Pm0(τm0 < ζ0)

���

= Pm0(Xξ1 ∈ V (i)(m1), N = 0)Pm0(τm0 < ζ0)
k

= Pm0(ξ1 = τV (i)(m1) < τm0)Pm0(τm0 < ζ0)
k.

E�����������(

Pm0(Xξ1 ∈ V (i)(m1)) =
∑
k≥0

Pm0(Xξ1 ∈ V (i)(m1), N = k)

=
∑
k≥0

Pm0(ξ1 = τV (i)(m1) < τm0)Pm0(τm0 < ζ0)
k

=
Pm0(ξ1 = τV (i)(m1) < τm0)

Pm0(ζ0 < τm0)
.



���	�	
�

 ��

�� 
����
�� /�����
�
�� "�3( �� 
�
��

Pm0(ξ1 = τV (i)(m1) < τm0)

Pm0(ζ0 < τm0)
≤

∑
r∈V (i)(m1)

Pm0(τr < τm0)

Pm0(τx < τm0)

≤ K(β)
∑

r∈V (i)(m1)

e−β(E(z∗(m0,r))−E(z∗(m0,x))−7γβ)�!"�


�� ��� x ∈ V (i)(m0)
c( �����

K(β) = |S|
(
|S| exp

(
−β min

a �=b:E(a)>E(b)
(E(a)− E(b)) + 2γββ

)
+ 1

)
max
r∈S

|N (r)|.

'�� ��� r ∈ V (i)(m1)( �� ���� E(z∗(m0, r)) ≥ E(z∗(m1, r)) ��	 �����
���

E(z∗(m0,m1)) ≤ E(z∗(m0, r)) ∨ E(z∗(r,m1)) = E(z∗(m0, r)).

C�
�� ��
� 
� �!"�( �� ����
�

Pm0(ξ
(i)
1 = τV (i)(m1) < τm0)

Pm0(ζ0 < τm0)
≤ K(β) |S| e−β(E(z∗(m0,m1))−E(z∗(m0,x))−7γβ)

��	 ����( ���� �����
�� x = sm0 ��	 ���
�� ���� E(z∗(m0, sm0)) = E(sm0)(

Pm0(Xξ1 ∈ V (i)(m1)) ≤ K(β) |S| e−β(E(z∗(m0,m1))−E(sm0 )−7γβ).

�� ����
�
�� ��� ����
��� �������( �� )����� ������	�

lim
β→∞

1

β
lnPm0(Xξ1 ∈ V (i)(m1)) = − (E(z∗(m0,m1))− E(sm0))

�� �������	� �

$� ������
-�( ��
�� ������� ��� �
�
��	 ��������
���� 	����	� �� ��� ���
� ����
��
����������� ��	 ��� ��� ������ ����
��� ������� ����& ; �����
�
�� 
��� ��� ������
V (i)(m0) �� ������� ������ V (i)(m1) 
� ���� ����
���( 

 ����� ��
��� � ���� 
��� sm0 ��
V (i)(m1)( ��� �
��
�� ��� ����� ������� $�
� �����
�
�� 
� ��	� �� ����� ������������ �
���
����� β� 

 ��� �		
�
���� ������ ����
�� E(z∗(sm0 ,m1))−E(sm0) 
� ��+�
����� ����� ��

� ����� ���	� ��� ������ ����
�� E(z∗(sm0 ,m1)) 
� ������
������ �
 ��� ���� ��
��� ��
��� ����� ������ ����
���( 
����	
�� ��� ����
�� E(z∗(sm0 ,m0)) = E(sm0)�

; ������ �
�
��� �� ��� ����
��� ����� ���	� ���� 
�� �����
�
��� 
��� m ∈ S(i)\N (i)

�� ��� s ∈ ∂+V (m)�

��&&� -('5( !�� m ∈ S(i)\N (i) ��� s ∈ ∂+V (i)(m)� "
��

lim
β→∞

1

β
lnPm(Y1 = s) = −(E(s)− E(sm)).

������ '�� ��� ����
( 	�������� ���
� ��� ����� {Y1 = s} �
�� ������� �� ��� ������
�
 �
�
�� �� m ��
��� V (m) = V (i)(m) 
� ��
� ��� ��� /�����
�
�� "�1�( �
�
��

Pm(Y1 = s) =
Pm(σ1 = τs < τm)

Pm(σ1 < τm)
.

'�� �� ����� ����	( �� ����
� �� ������� ������ �� /�����
�
�� "�3 ����

Pm(Y1 = s) =
Pm(σ1 = τs < τm)

Pm(σ1 < τm)
≤ Pm(τs < τm)

Pm(τsm < τm)
≤ e−β(E(s)−E(sm)+o(1)).

'�� � ����� ����	( ���� ����( ��
�� ��� ������ ������ ��������(

Pm(τs < τm < τ∂+V (m)\{s}) = Pm(τs < τm)Ps(τm < τ∂+V (m)\{s}),



�� ������ 	�
����� 	
� 	
���	 ��
����

�����

Ps(τm < τ∂+V (m)\{s}) ≥
∑

r∼s,r∈V (m)

p(s, r)Pr(τm < τ∂+V (m)\{s})

≥
∑

r∼s,r∈V (m)

p(s, r)Pr(τm < σ1).

�
��� ����� ��� �� �� �� ����� ��� ����� r ∼ s, r ∈ V (m)( �
�� E(r) < E(s)( ��	
Pr(τm < σ1) → 1 �� β → ∞( ��
� ���� ��� 
� ����	�	 ���� 
��� 7� $���(

Pm(σ1 = τs < τm) ≥ Pm(τs < τm < τ∂+V (m)\{s}) ≥ e−β(E(s)−E(m)+o(1)).

'
�����( �
���

Pm(σ1 < τm) ≤
∑

r∈∂+V (m)

Pm(τr < τm)

≤
∑

r∈∂+V (m)

e−β(E(r)−E(m)+o(1))

= e−β(E(sm)−E(m)+o(1)),

�� ������	�

Pm(Y1 = s) ≥ e−β(E(s)−E(sm)+o(1))

��	 ���� ��� ������
��� �

F�� �� ��� 
�� ��� ���
������
�� %���� 
� ��� ����������	 ���
�&


�"*"!���" -(''( ��% 1 ≤ i ≤ n ��� ε > 0� "
�� �
� 112 �� ����� i �%
����� ��
����	�������
 5��	� �� ����� ε �� �
� ��������
 �
��� ���������� 
��� ���� 

�!� E(z∗(m0,m1))− E(sm0) ≤ ε ��� ��� �������� m0,m1 ∈ S(i)\N (i)�
�"� ��� ���
 m ∈ S(i)\N (i)� �
��� �%��� �� ����� ��� �������� m1,m2 ∈ S(i)\N (i),m 
=

m1,m2, ���
 �
�� Pm(Xξ1 ∈ V (i)(mj)) > 0 ��� j = 1, 2�

�2� ��� ���
 	��� m0,m1 ∈ S(i)\N (i) ���
 Pm0(Xξ1 ∈ V (i)(m1)) > 0� �
��� �%���� �

������� �	
��������
����	��
 ���� sm0 �� m1 ��� 
�����
 ��� ������ ��� V (i)(m1)�

$�� ��
�
� �
 ��� ��	����� �� 	�)�� ��������
��� �
�� �� ���
������
�� %���� �
 ��
��	�� ������ ���� � ����� ε 
� �� ����
� �� �����
���	 ������� �
�� �������� 	����������	

��������� �
� 4���
	��� ����� ������( 
�� ��
� ��	 � ������ ������
�� ������ ��� ���
����
�� �� ��� n��� %��� �� ���� �
�� n 
�����	 �
 n2� $�
� 
� ����� �� 	
*��
�� �����
��

� ����
��� :
����� ��������
�� 
��������� ��� �
���� ���������	 	�� �� ��� 
�����
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��������& �� ��� �
��� �
��( ��� ������� 
� �
�� �
�� ������
�
�� 
� � �
�
��� ��	
���� ����
�� 
�( ��� �� ���
�� � ���
�
�� %���( ��� ���� 
�������� 
� ���� �
���� �����
��
������� ����� 
� � 	�

� ���� �� ��� �
�
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���
��( ��� 
��������� �
 ��� ��������
�

%��� ���
� ��� ��
���� �����������	 ��� ���
�� ���� -��� �
��� ���%�����
�� �
 Ỹ �� ��

���	��
�
�
�� ����� ��� ������ ������ �
 ��� 
��� m1 → s → m2 → s → m3 → ...( �����
s ∈ N (i) ��	 m1,m2,... ∈ S(i)\N (i)� $���( �
��� ��� ����
��� 
���������( 
� 
� 
� �������
���� �� ���	
�� ��� ���� 
�������� ��	 ���� 	� ��� ���� ���� -���� D� ��� ����� ���	( 


�� ��� ������ β ��	 i ���� ����( 
�� ���m0,m1( �� ���� Pm0(Y1 = m1) ∈ {pm0±ε}∪[0, ε]

�� ε� pm0 ( �� ����
� �� ;;E ��
�� ������� ������� �
�� � B: �� � ������ ���� � B:
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�� �
�� n� ��	 �� ������ ���	����� E ��
�� 
� �����������
������ �� ������ -�������� 
���������� 6� ����
����� {m|Pm0(Y1 = m) = pm0 ± ε} ���
�� �����
�� �� ����� ��� �������
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���
� �
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��, ���" -('+( ; )�
�� ������ ���
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��� �� �� ������ 
����
�� E ���
�
�
��
��� �������
��� �����	 �� ��� ���
��
�� �
 ����
�� ! ��� ���������� �� ����� ε > 0 


����� ��
��� �� ��������
�� ����� i < n− 1 ���� ���� ��� 
�����
�� ���	
�
��� ��� 
��)���	

�� ���� m ∈ S(i)\N (i)&

���!� supm′∈S(i)\(N(i)∪{m})E(z∗(m,m′))− E(sm) ≤ ε�

���"� $���� ��� �� ����� ��� 	
��
��� m1,m2 ∈ S(i)\(N (i) ∪ {m}) �
�� � �
�
���
���
���	����
������� 
��� sm �� mk ��� �
��
�� ��� ����� ������ ��� V (i)(mk)

�� k = 1, 2�

6� ��
� ����( ��� ������� (V (i)(m))m∈S(i) ��� �����	 ���������� $48( �� ����� ε�

$�� ���	�� �����	 ���
�� ���� ���� �
������� ��� {s} ����
��
�� �
 � �������
���	 �����
s ∈ N (i) 
���� � ��� $�� ���	
�
��� ���!� ��	 ���"� ������ ��� ���	 ������ �
 ���
��� ������ ����
��� ��	 ��� ��� ����
�� ����������� �
 �
�
��� ;� �����	� ��
���	 ���(
��
� 	�����
��� ��
�� ������� ��� �
�
��	 ��������
����� /������
�� �
 �� ��
�� ��� ��
������	�	 
��� ��� ������� �
 ��� ����
��� ����
��� ��� ������
-�	 
� ��� ���� ��������
$�� ���	�� 
� ���
�	�	 �
 /������
�� !03 �����	 
� ��� 6����	���
���

�8�"��& -('-( ��� 48 �� ������ �� +�������� -�&) �� 
���

$&( "
� ���������� 	������������ ��� 5��	� ������� 48 �� ��� ��	��� �� �
� 	���� ��
�������� �� β → ∞ $���	���� &(�

$)( "
��� ��� �� ����	�������
 5��	� �� ����� ε $���	���� )(�
$-( "
� �%	����� ��������� ���� �� � 48 ��	���� �� E ���� ��� �
� ��	�
 �� �
� 48 ��

β → ∞ $���	���� -(�
$*( ��
�����
 ���� 48 	��������
 �� ����� ������� �
� ������ �� � ���	 ����� $���	����

*(�

������ �!� 
������ 
��� /�����
�
�� 2�3( �"� 
��� /�����
�
�� 2�!!( �2� 
��� $������ "�.(
��	 �3� 	
������ 
��� ��� 	�)�
�
��� �

6� �����	 ��� �� �����
�
�� ���� ��� �����	����	��� 	�)�
�
�� �
 �� �� )����  !"#
��	 �����	 
� ��� 6����	���
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�	���� +� 4������ �
 �� ������ ���	����� �
�� � ������
�� ����������

��� ������ ���	����� 
� '
���� 1 ��� �� ���������� �����	����	��� �� ������� �����
�����
�
�� ������� ��� �������� �
 ��� ����� ���� ���� ���� ������� ��� ����� x� '��
� ���
��� ���%������( ����� �
�� �� �� ���� ����� ��& ��� ������ �
�
��	 ��
��� ��� )���
���������� �
 x( ��� ������ �
�
��	 ������� ��� )��� ��	 ��� ���� ���������� �
 x( ��	
��� ������ �
�
��	 �
��� ��� ���� ���������� �
 x� $�� ������ 
�� ��
� ���� ���
�������

� ��� ������
�� ��������� �
 ��� ������ ���	����� ��( ���� ���������( ��� 
��� ���� ���
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���
	
�� ���� �������
���� ���� ��� ��������� $�
� ������� 
� � ����� ���������� �
�� 
�� x ��������	 �� ���
������ �
 ������ �
�
��	 
� ��������� ?������( ����� ������ �����
����� � �� ����
��
�� ��� �����
�	����	��� 	�)�
�
�� 
�� ��+�
����� ����� ε( 
� ��
�� ���� ��� ;;E

���� � ������ ���
� ��	( �
��� ��� ��������
� �����
���( ���� � B: �� ��� ������

?��
�� ���� ������
)�	 ���� ��� ��� 	�)�
�
��� �
 �� 	� ��� ��������
�� ��
��
	�(
����� ��� �����
�	����	��� �������� ����
�� �� � �
	�� ����� �
 ������ ���	������( ��
���� �� ��� �����
�� ����� ���	
�
��� 
�� ���� �� ��
��
	� �
�� �
�� ������
�
��� ;�
�����	� ��
���	 ���( �� ���� �� ������ � ��+�
��� �������
�
�� ������� ��� ����������
�� ������ ��� ��
������ �
 ���������� �����	����	��� ��� 6� ����� �
 ��
� �������
�
��
�
�� � ����
�� 	�)�
�
�� ��� ,�)�
�
�� 2�!3� ��	 ��� ��������� β ��	 ε( ��� ���� ������(
$������ 2�!5 �����( ����
	�� ����� ����	� 
�� ��� ������
�
�� ���� ���� 	�)�
�
��� �
��	
��� ���� ����
�
�� �
 ��� ����� ������

$�� )��� ���� �����	� ��
� ��	 
� �� 
	���

� ��	 �����( 
�� ���� m ∈ S(i) ��	 � �
���
β( ��� ������ s ∈ S(i) 
�� ��
�� � �����
�
�� �
 Y 
��� m �� s 
� �
����� $�
� ���	� �� ���
��������	 �������
�
�� ����������

��, ���" -('.( A�� ε > 0 ��	 ������� ���� X ��� �� �
 ��	�� ε > 0 �� ����� i� ,�)��
��� ������������ 	��������� ηi = ηi,ε, 1 ≤ i ≤ 3( ��

η1,ε := min
n∈N(i),r∈S(i):V (i)(r)∩N (n) �=∅

∣∣∣{s ∈ N (n)\V (i)(r)
∣∣E(s) ≤ E(n) + ε

}∣∣∣ ,
η2,ε := min

m∈S(i)\N(i)

∣∣{s ∈ ∂+V (i)(m)|E(s) ≤ E(sm) + ε}∣∣,�!2�

η3,ε := min
n∈N(i)

∣∣{s ∈ S(i)|E(x) ≤ E(n) + ε 
�� ���� x ∈ V (i)(s) ∩ N (n)}∣∣.
η1 
� ��� �
�
��� ������ �
 ��
�����
�� �
��� �
 � �������
���	 ����� n ��
�� 	� ���

������ �� � ����
����� ��
�����
�� ������ ��	 ����� ������ 
� �� ���� ε ���� ��� ������
�
 n� η2 
� ��� �
�
��� ������ �
 ��
�����
�� �
���K������� �
 � ������ V (i)(m) �����
������ 
� �� ���� ε ���� ��� ������ �
 sm ��	 ��
�� ��� �� ������	 �
� �� ���
�������

��� m� '
�����( η3 
� ��� �
�
��� ������ �
 ��
�����
�� ������� �
 � �������
���	 �����
n ��
�� �����
�� � ����� �
�� ������ �
 �� ���� ε ���� ��� ������ �
 n� η1 ��	 η3
��� ������ �� ����� " ��	 
� 
��� ��
�� ����� 
� ��� ���� ������� ������ ���	������ �

���������� �������� '�� ���� ����� ε( η2 ��� �� !( ��� 

 X ��� �� �
 ��	�� ε 
� � �
��
	
����
���� ������ ���	�����( ���� η2 ��� �� ������	 �� �� ��
�� ����� �� �����

$��� �����
�
��� �� ������ ������	 ����� ���� ���������� ����� ������
�
�
�� 
� �������
�
 ��� 
�����
�� ������ $���( ��� 	�)��	 ���������� 	� 
� 
��� ������� ��� �������
�
��
�
 ��� ���

��&&� -('/( !�� ε > 0 ��� ��		��� �
�� X 
�� 48 �� ����� ε > 0 �� ����� i ���


������������ 	��������� ������ �� �!2�� 6�����
 Yk ��� Y
(i)
k ��� V (m) ��� V (i)(m)�

m ∈ S(i)� �
� ��������
 ���������� 
��� ���� ��� ��� ��/������� ���
� β 

��� �� m ∈ S(i)\N (i) ��� s ∈ ∂+V (m) ∩ {x|E(x) − E(sm) ≤ ε}� �� m ∈ N (i) ���

s ∈ S(i) �������� V (s) ∩ {x ∈ N (m)|E(x) − E(m) ≤ ε} 
= ∅� �
��

Pm(Y1 = s) ≥ e−2βε.

��� ��� ��� �������� m ∈ N (i) ��� s ∈ S(i)�

Pm(Y1 
= s) ≥ η1 e
−2βε,

��� ��� ��� �������� m ∈ S(i)\N (i) ��� s ∈ S(i)�

Pm(Y1 
= s) ≥ (η2 − 1) e−2βε,



���	�	
�

 ��

:� ��� ����( 
�� ε ����� ������ �������	 �� β( �����
�
��� �
�� �� ������ ����
�� �

�� ���� ε ��� ��
�� ��
�� �
���� ��	 ���� � %��� �� � ����
����� ������ ��
�� ���
���� 
�
��� ���� �
 �
�� �������
�
���

������ ��� E����� β0 > 0 �� ����� ����( 
�� β ≥ β0( γβ ≤ ε ��	 Pm(Y1 = s) ≥
e−2β(E(s)−E(sm)) 
�� ��� m ∈ S(i)\N (i) ��	 s ∈ ∂+V (m)( ��� ������ ��
�� ����
���
�� A���� 2�!7� $��� 
�� ��� ���� m ��	 s( �� 
�
�� Pm(Y1 = s) ≥ e−2εβ ����
	�	 ����
�		
�
������ E(s) ≤ E(sm)+ ε ���	� ����� 6
 m ∈ N (i)( ���� Pm(Y1 = s) ≥ e−2εβ 
�� ���
s ∈ S(i) ���� ���� E(x) ≤ E(s) + ε 
�� ���� x ∈ V (s) ∩ N (m)( 
��

Pm(Y1 = s) ≥ Pm(Xσ1 = x) = p(m,x) ≥ e−β((E(x)−E(m))++γβ).

��� /
�� ���
� β0 �� ����� ���� γβ ≤ ε 
�� ��� β ≥ β0� $���(

Pm(Y1 
= s) ≥
∑

x∈N (m),x/∈V (s)

p(m,x)

≥
∑

x∈N (m),x/∈V (s),E(x)≤E(m)+ε

exp
(− β((E(x) − E(m))+ + γβ)

)
≥ η1 exp(−2βε),

�� 	�)�
�
�� �
 η1�

��� '
� β0 �� ����� ���� Pm(Y1 = x) ≥ e−2β(E(x)−E(sm)) 
�� ��� x ∈ ∂+V (m) ��	
β ≥ β0� 6� ��� ���� ���� ��� �� 
� ���� ���( �� ���� ��� 
�� ��� β ≥ β0

Pm(Y1 
= s) ≥
∑

x∈∂+V (m),x �=s

Pm(Y1 = x)

≥
∑

x∈∂+V (m),x �=s,E(x)≤E(sm)+ε

exp
(− 2β(E(x) − E(sm))

)
≥ (η2 − 1) exp(−2βε),

�� 	�)�
�
�� �
 η2� �

$�� ����� ������ ���
����� ���� 
� ��� ���� �
 �
�� �������
�
�� ��� ������
�
�� ��
���
�
� � ����
����� ������ �
��
� � )��	 �
�� T 
� ��
�� �����( �� 
� ����� ���	�( ���
������
�
�� 
�� ��� ;;E �� %��� ����� � ���
���
	
�� ���� 
� ��
�� �
��� $�
� 
� ���
��
� ���� �����	� ��� ��������	 ������� ��	 �����	 ������ $�� ��������
�� �
�� T �

������ ��� �� �� ����� �������	 �� ��� ����� �
�� �
 ��� ��������

��&&� -('0( !�� ε > 0 ��� ��		��� �
�� X 
�� 48 �� ����� ε > 0 �� ����� i ���


������������ 	��������� ������ �� �!2�� 6�����
 Yk ��� Y
(i)
k ��� V (m) ��� V (i)(m)�

m ∈ S(i)� �����

τ
(i)
V (m) := inf{k ≥ 1|Yk = m}.

"
�� �
� ��������
 ���������� 
��� ���� ��� ��� ��/������� ���
� β 

��� ��� ��� 0 < δ < 1− Pm(Y2 = m) ��� 1 ≤ T ≤ T (m,β) + 1�

Pm

(
τ
(i)
V (m) > T

)
≥ δ,

�
���

T (m,β) :=
ln δ

ln
(
minm′ �=m Pm′(Y1 
= m)(1− 1{m′ /∈N(i)} δ(m′, β))

)
���

δ(m′, β) := max
x∈V (m′)

∑
z∈∂+V (m′)

ε̃(x,m′, z, β).



�� ������ 	�
����� 	
� 	
���	 ��
����

�� 	���������� �� δ ≤ (
(η1 ∧ (η2 − 2))e−2βε

)T
��� ���� T > 0� �
�� T (m,β) ≥ T �

��� ��� ���
 k ≥ 1 ��� m0 ∈ S(i)�

∑
m1,...,mk

k−1∏
j=0

Pmj (Y1 = mj+1) ≥ [η2 ∧ η3]k e−2kεβ

�
��� ��������� ���
�� ���� ��� 	������� �������� m1,...,mk ∈ S(i)\{m0} ���
��� N ∈ N �� ����� [N ]k := N(N − 1) · ... · (N − k + 1)�

6� �����	 �� ���
��	 ���� Pm(τ
(i)
V (m) > 1) = 1 ���� ;;E ����� ����� ���� ��	

Pm(τ
(i)
V (m) > T ) ≤ Pm(τ

(i)
V (m) > 2) = 1− Pm(Y

(i)
2 = m)


�� ����� T ≥ 2 �
�� �����
�� ���	
�� ���� 

 T = 2� :� ���� ��� ���� Pm(τ
(i)
V (m) > T ) ≥ δ

����
�� δ < 1 − Pm(Y2 = m)( ��� ������ ��
�� ���
����� ������ '����������( ��� ����	
�� ��� ������ �
 ���
����
	
�� ���� �
 ������ k 
� ���� ���	� ��	 ��� �� 
������	 ����
����
�� ���� ����� ��� ����
�� ����������� �
 ��� ���������� �������

������ ��� B����� 
��� ��� )��� ���� �
 ��� ����
 �
 /�����
�
�� 2�3 ����

Pm(Yn+1 
= z|Yn = y,Xσn = x) ≥ Py(Y1 
= z)

⎛⎝1− 1{y/∈N(i)}
∑

r∈∂+V (y)

Px(τr < τy)

⎞⎠
≥ Py(Y1 
= z)

⎛⎝1− 1{y/∈N(i)}
∑

r∈∂+V (y)

ε̃(x, y, r, β)

⎞⎠
≥ Py(Y1 
= z)

(
1− 1{y/∈N(i)} δ(y, β)

)

���	� ���� 
�� ��� y, z ∈ S(i), x ∈ V (y) ��	 β > 0� $�
� �
�� ��� �� ���	 �������	�� ��
���� ����

Pm

(
τ
(i)
V (m) > T

)
≥

(
min
m′ �=m

Pm′(Y1 
= m)(1 − 1{m′ /∈N(i)} δ(m
′, β))

)T−1
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�

 ��


�� ���� T > 2� /���
�� m(x) := m′ 

 x ∈ V (m′) 
�� m′ ∈ S(i)( �� ����
�

Pm

(
τ
(i)
V (m) > T

)
= Pm(Y1 
= m,..., YT 
= m)

=
∑

x1,...,xT−1 /∈V (i)(m)

Pm(Xσ1 = x1)
T−2∏
k=1

Pm

(
Xσk+1

= xk+1|Xσk
= xk, Yk = m(xk)

)
× Pm(YT 
= m|XσT−1 = xT−1, YT−1 = m(xT−1))

≥
∑

x1,...,xT−1 /∈V (i)(m)

Pm(Xσ1 = x1)

T−2∏
k=1

Pm

(
Xσk+1

= xk+1|Xσk
= xk, Yk = m(xk)

)
×
(

min
m′ �=m

(
Pm′(Y1 
= m)(1− 1{m′ /∈N(i)} δ(m

′, β))
))

���

≥ min
m′ �=m

(
Pm′(Y1 
= m)(1 − 1{m′ /∈N(i)} δ(m

′, β))
)T−1

.

��� ��
� ������
���� ��� �������	 
������
�� ���� )����� ������
�� ���� ��� ���� �������
��

� ≥ δ 
* T ≤ T (m,β) + 1�

?��
�� %��� ��
	 ���� T (m,β) ≥ T ���	� 
*

min
m′ �=m

(
Pm′(Y1 
= m)(1 − 1{m′ /∈N(i)} δ(m

′, β))
)T

≥ δ,


� ��+��� �� ���� ����( �� β → ∞( δ(m′, β) → 0 ���	� ���� 

 m′ ∈ S(i)\N (i)( �
�
��

1− δ(m′, β) ≥ η2 − 2

η2 − 1


�� ��+�
����� ����� β� $������� �
�� A���� 2�!1���( ��
� 
������ �
��	�

min
m′ �=m

(
Pm′(Y1 
= m)(1 − 1{m′ /∈N(i)} δ(m

′, β))
)T

≥ (
(η1 ∧ (η2 − 2))e−2βε

)T
��	 ���� ��� ������
���

��� ?��� 
� ��+��� �� ���
�� ����( �� ���( [η2 ∧ η3]k 
���� � ����� ����	 
�� ���
������ �
 ���
����
	
�� ����� (m0,...,mk) ���� ���� Pmj(Y1 = mj+1) ≥ e−2βε 
�� ����
j = 0,..., k − 1� �

:� ������	 �
�� ��� ��������	 ������ ����� ��� �����
�� ������� �����	����	���
��	 �����
�	����	��� ��� $� ��
� ��	( �� )� T = σK 
�� ���� K ∈ N� A�� Vk 
��
k = 1,..., υ 	����� ��� ���	�� ������ �
 �� ����
��	 
��� X0,..., XT �� 	�)��	 
� ���
6����	���
��� '�� x ∈ S( �� 
������ ��� V(x) 	����� ��� �� Vk �����
�
�� x ��	 ���
V(x) := ∅ 

 �� ���� �� ��
��� ��
�� 
� ��� ���� 
* x /∈ {X0,..., XT }�

�8�"��& -('2( !�� ε > 0 ��� ��		��� �
�� X 
�� 48 �� ����� ε > 0 �� ����� i
���
 ������������ 	��������� ������ �� �!2�� ��% K ∈ N� T = σK ��� 0 < δ ≤(
(η1 ∧ (η2 − 1)− 1)e−2βε

)K
� "
��� ��� ���
 0 ≤ k < K ��� m0 ∈ S(i)� �
��� �%����

β0 > 0 ���
 �
�� ��� ��� β ≥ β0

��� Pm0

(
V

(i)
< (Yk) ⊆ V(Yk)

)
≥ 1 − (maxm∈S(i)\N(i) |V<(m)| + 2)maxm∈S(i)\N(i) δ(m,β),

�
��� V
(i)
< (s) := {s} �� s ∈ N (i)�

��� Pm0(V(Yj) ⊆ V (i)(Yj), 0 ≤ j < k) ≥ 1− k(maxm∈S(i)\N(i) δ(m,β) + (1 − δ))�



�� ������ 	�
����� 	
� 	
���	 ��
����

��� �� η2 ∧ η3 > K − 1� �
��

Pm0(V(Yj) ⊆ V (i)(Yj), 0 ≤ j ≤ K − 1) ≥

[η2 ∧ η3]K
(
1− max

m∈S(i)\N(i)
δ(m,β)

)K−1

e−2Kεβ .

'�� ��� ������
�� ����	� �� �� �
��
)����( ��� ����
������� ���� �� ���� '
���( K
���� �� ����� �������	 �� ��� ����� �
�� �
 ��� ;;E ��	 ε ���� �� ����� �������	 ��
β0 �� ������ exp(−2βε) � 0� �����	( ��� �������
�
�� ���� �� �
�� �� ������ 1− δ � 1
��	 [η2 ∧ η3]Ke−2Kεβ � 0�

$��
�����( ��� 
�����
��� 
� ����� ��� ��	 ��� ��� ���
�� ������� �
 �
�� ������ ������
�
��
� � ������ ���� �
�� �������� �� �
���	 	��
�� ��� �
�����
�� ��� ��	 �����
���
��� ������ �� ��� �����	����	��� ��� D� ��� ����� ���	( �
��� ��� �������� ���
��� ��
����� ��� ����� ����� �� ���������� �� ����
��� �� ������� ��� ������ �����
�� ���� �
��
������ ������ �������� ���� ��� ���
������ 
� ��� ����� 	����
��	 
� ����
�� !�

������ :
�� i ��
�� )��	( ��� �� ��
�� �� ����
�� V (m) 
�� V (i)(m)( ��	 ���� V<(m) 
��

V
(i)
< (m)�

��� '�� � �
��� 0 ≤ k < K( 	�)��

Ak := {σk ≤ τYk
< σk+1},

Bk := { 
�� ����� x ∈ V<(m) ��
��� τYk
≤ lx < σk ���� ���� Xl = x},

Ck := {Xl = Yk 
�� ���� max
x∈V<(Yk)

τx ≤ l < σk}.

:
�� δ(m,β) �� 	�)��	 
� A���� 2�!8 ��	 ��
��

Px(σ1 < τm) ≤
∑

y∈∂+V (m)

ε̃(x,m, y, β) ≤ max
m∈S(i)\N(i)

δ(m,β) =: δmax�!3�


�� x ∈ V (m), m ∈ S(i)\N (i)( �� ����
�

Pm0

(
V

(i)
< (Yk) ⊆ V(Yk)

)
≥ Pm0(Ak ∩Bk ∩ Ck)

=
∑

m∈S(i),r∈V (m)

Pm0({Xσk
= r} ∩Ak ∩Bk ∩ Ck)

=
∑

m∈S(i),r∈V (m)

Pm0(Xσk
= r)Pm0 (Ak|Xσk

= r)Pm0 (Bk ∩ Ck|{Xσk
= r} ∩ Ak)

=
∑

m∈S(i),r∈V (m)

Pm0(Xσk
= r)Pr(τm < σ1)

× Pm(τx < σ1 
�� ����� x ∈ V<(m)( Xl = m 
�� ���� max
x∈V<(m)

τx ≤ l < σ1)

≥
∑

m∈S(i),r∈V (m)

Pm0(Xσk
= r)(1 − δmax)

× Pm(τx < σ1 
�� ����� x ∈ V<(m)( Xl = m 
�� ���� max
x∈V<(m)

τx ≤ l < σ1)

= (1 − δmax)
∑

m∈S(i)

Pm0(Yk = m)

× Pm(τx < σ1 
�� ����� x ∈ V<(m)( Xl = m 
�� ���� max
x∈V<(m)

τx ≤ l < σ1).

�!1�



���	�	
�

 ��

$���( 
� ��	�� �� ���� ���� �
�� �
�� ������
�
�� � �����	����	��� �� �����
��� ���

���� ���� �
 � ������( �� ���� ���� �
�� �
�� ������
�
��( ���� �����
�� 
� 
�� �
�
���(
��� ����� 
���� ���� �
�� �� �
�
��	 ��	 ��� ������� �
�� ������ �� ��� �
�
��� ����

���� ��
��� ��� ������ 
� ��
�� $�
� 
� ��
�
�� 

 m ∈ N (i) ��	 ���� V
(i)
< (m) = {m}( 
��

����

Pm(τx < σ1 
�� ����� x ∈ V<(m)( Xl = m 
�� ���� max
x∈V<(m)

τx ≤ l < σ1) = 1.

���� ���	� �� �� 	��� 

 m ∈ S(i)\N (i)( �����

Pm

(
τx < σ1 
�� ����� x ∈ V<(m)( Xl = m 
�� ���� max

x∈V<(m)
τx ≤ l < σ1

)
≥ 1− Pm (τx > σ1 
�� ���� x ∈ V<(m))− Pm

(
Xl 
= m 
�� ���� max

x∈V<(m)
τx ≤ l < σ1

)
.

$�� �����	 ������
�
�� 
� ��� �����	
�� �
�� ��� 
������ �� ����	�	 �
�� ��� ���� �

�!3�( �
-�

Pm(Xl 
= m 
�� ���� max
x∈V<(m)

τx ≤ l < σ1)

=
∑

y∈V<(m)

Pm( max
x∈V<(m)

τx = τy, Xl 
= m 
�� ����� max
x∈V<(m)

τx ≤ l < σ1)

≤
∑

y∈V<(m)

Pm( max
x∈V<(m)

τx = τy)Py(τm > σ1)

≤ δmax,

��
�� 
�� ��� )��� ������
�
��( �� ����
� �
�� ��� ���� �
 $������ "�!

Pm (τx > σ1 
�� ���� x ∈ V<(m)) ≤
∑

x∈V<(m)

Pm(σ1 < τx)

≤
∑

x∈V<(m)

∑
y∈∂+V (m)

Pm(τy < τx)

≤
∑

x∈V<(m)

∑
y∈∂+V (m)

ε(m,x, y, β),�!8�

������� E(z∗(m, y)) > E(z∗(m,x)) 
�� x ∈ V<(m) ��	 y ∈ ∂+V (m)� $�� ������ ���
�� ���� �� 
������& 6� ��� ���� ����� 
� ��� ����
 �
 $������ "�" ���� E(z∗(x,m)) <
E(z∗(x, y))� ?����(

E(z∗(x,m)) < E(z∗(x, y)) ≤ E(z∗(x,m)) ∨ E(z∗(y,m)) = E(z∗(y,m))

�� �������	� F���( �� 
�
��

E(z∗(x, y)) ≤ E(z∗(x,m)) ∨ E(z∗(m, y)) ≤ E(z∗(x,m)) ∨ E(z∗(x, y)) = E(z∗(x, y)),

���� E(z∗(x, y)) = E(z∗(m, y))� B�����
�� ��� 	�)�
�
�� �
 ε(m,x, y, β)( ��� ���� ������

�� 
���
�� ε(m,x, y, β) = ε(x,m, y, β) ��
�� �
�� ��� �� ���	 �� 
������ ����	 ���
�������
�� 
� �!8�( ������∑

x∈V<(m)

∑
y∈∂+V (m)

ε(m,x, y, β) =
∑

x∈V<(m)

∑
y∈∂+V (m)

ε(x,m, y, β)

=
∑

x∈V<(m)

∑
y∈∂+V (m)

ε̃(x,m, y, β)

≤ |V<(m)| δmax

≤ max
m∈S(i)\N(i)

|V<(m)| δmax.
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� 	
���	 ��
����

$������� �
�� �!1� ��
� �
��	� �� �������	

Pm0

(
V

(i)
< (Yk) ⊆ V(Yk)

)
≥ (1− δmax)

∑
m∈S(i)

Pm0(Yk = m)

× Pm(τx < σ1 
�� ����� x ∈ V<(m)( Xl = m 
�� ���� max
x∈V<(m)

τx ≤ l < σ1)

≥ (1− δmax)

(
1−

(
max

m∈S(i)\N(i)
|V<(m)|+ 1

)
δmax

)
≥ 1−

(
max

m∈S(i)\N(i)
|V<(m)|+ 2

)
δmax.

��� ;����	
�� �� A���� 2�!8( ������ β0 > 0 ���� ����

�!5� max
m∈S(i)

Pm

(
τ
(i)
V (m) ≤ K

)
≤ 1− δ


�� ���� β ≥ β0� �� ��
�� �!5� ��	 �!3�( �� ��� 
�
��

Pm0(Yl = Yk 
�� ���� k + 1 ≤ l ≤ K)

=
∑
s∈S

Pm0(Yl = Yk 
�� ���� k + 1 ≤ l ≤ K,Xσk
= s)

≤
∑
s∈S

Pm0(Xσk
= s)

(
Ps(τ

(i)
V (Y0)

≤ K − k, Xj = m(s) 
�� ���� 0 ≤ j < σ1)

+ 1{s/∈N(i)} Ps(τ
(i)
V (Y0)

≤ K − k,Xj 
= m(s) 
�� ��� 0 ≤ j < σ1)
)

≤
∑
s∈S

Pm0(Xσk
= s)Pm(s)(τ

(i)
V (Y0)

≤ K − k) +
∑

s/∈N(i)

Pm0(Xσk
= s)Ps(σ1 < τm(s))

≤ 1− δ + δmax,

��	 )�����

Pm0(V(Yj) ⊂ V (i)(Yj), 0 ≤ j < k) ≥ Pm0

⎛⎝k−1⋂
j=0

{Yl 
= Yj , j + 1 ≤ l ≤ K}
⎞⎠

≥ 1−
k−1∑
j=0

Pm0(Yl = Yj 
�� ���� j + 1 ≤ l ≤ K)

≥ 1− k(δmax + (1− δ)).

��� 6� ��� 
�����
�� ��������
��( ��� r0 = m0(
∑

mj
����� ���� ��� K�������� (m1, ...,mK)

�
�� ��
��
�� 	
��
��� ���������� 
� S(i)\{m0} ��	( 
�� ���� k < K( ���
∑

r1,...,rk
�����

���� ��� k�������� (r1,..., rk) ���� ���� rj ∈ V (mj) 
�� ���� j = 1,..., k� ;� 
� ���� ���(
��� �!3� �������	�� �� 
�
��

Pm0(V(Yj) ⊂ V (i)(Yj), 0 ≤ j ≤ K − 1)

≥
∑
mj

∑
r1,...,rK−1

Pm0

⎛⎝K−1⋂
j=0

{Yj = mj , Xσj = rj , τmj < σj+1} ∩ {YK = mK}
⎞⎠

=
∑
mj

∑
r1,...,rK−1

K−2∏
j=0

Prj

(
Y0 = mj , Xσ1 = rj+1, τmj < σ1

)
× PrK−1

(
τmK−1 < σ1

)
PmK−1(Y1 = mK)



���	�	
�

 ��

≥ (1 − δmax)
∑
mj

∑
r1,...,rK−1

K−2∏
j=0

Prj

(
Y0 = mj , Xσ1 = rj+1, τmj < σ1

)
PmK−1(Y1 = mK)

= (1 − δmax)
∑
mj

∑
r1,...,rK−2

K−3∏
j=0

Prj

(
Y0 = mj , Xσ1 = rj+1, τmj < σ1

)
× PrK−2

(
Y0 = mK−2, Y1 = mK−1, τmK−2 < σ1

)
PmK−1(Y1 = mK)

= (1 − δmax)
∑
mj

∑
r1,...,rK−2

K−3∏
j=0

Prj

(
Y0 = mj , Xσ1 = rj+1, τmj < σ1

)
× PrK−2

(
Y1 = mK−1, τmK−2 < σ1

)
PmK−1(Y1 = mK)

≥ (1 − δmax)
∑
mj

∑
r1,...,rK−2

K−3∏
j=0

Prj

(
Y0 = mj , Xσ1 = rj+1, τmj < σ1

)
× PmK−2 (Y1 = mK−1) PrK−2(τmK−2 < σ1)PmK−1(Y1 = mK)

≥ (1 − δmax)
2
∑
mj

∑
r1,...,rK−2

K−3∏
j=0

Prj

(
Y0 = mj , Xσ1 = rj+1, τmj < σ1

)
× PmK−2 (Y1 = mK−1) PmK−1(Y1 = mK)

���

≥ (1 − δmax)
K−1

∑
mj

K−1∏
j=0

Pmj (Y1 = mj+1)

≥(1− δmax)
K−1 [η2 ∧ η3]K e−2Kεβ,
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�)�&*�� -('3( :� ������ �� 4������ !�" �
��� 
� ����
�� !( ��� ��	

� ��� ������
���	����� �� �����
�� 	
���� �����
�
��� ������� ���� ��		��� ���� '
���� 8� �������
���"� ��� ������� ��� �� 
��)���	 
� � ����	
����
���� ��	��� :�
�� ���
�� �� �*���
�� ��� ���������� ������ m ∈ M (i)( ������� ������ 
� ��� ��� ����( 
�� ������ i ∈ {5, 6}(
��� ������ {1, 2, 3} 	� �� ������ ������ �� ��� ������ �����	 ����� 3 ��	 {1, 2} 
���� 
��
��� ������� $�� �������	
*������� supm′∈S(i)\N(i) E(z∗(m,m′)) − E(sm) �
 ��� ���
���
���������� ������ m �� ���� ����� 1 ≤ i ≤ n = 7 ��� ����� 
� '
���� 5� $�� ��������
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���������� ������ 
� S(i)\N (i) 
� 	����	���� �
 ��� ����� 1 ≤ i ≤ n�

�
 ����� ������ 	
*������� 	�������� 
� i( ��	 �� ����
� �� �
 ��	�� ! 
�� i ≥ 4( ��	 �

��	�� 0.5 
�� i ≥ 6�

$� 
��������� ��� �����
��( �� ���� ��� � ��������
� ;����
��� �� ��
� ������ ���	�
������ '�� 
�
�
�� ����� s = 4 ��	 β = 0.75( ��� �����
�� �
 ��� ���%�����
�� �
 ��� ��
�
���
���
� �� ���� �
 ��� ���������	 ���
� �� ������ i = 3, 4, 5 ��� ����� 
� '
���� .� $��

�����
�� ��������
��� ��� ����� �� �� ��
���	 ���&

• $�� ������ �
 ���
������
�� %���� 	�������� �
�� 
������
�� ����� �
 ��������
���
• $�� 	����� ��� ������( ��� ������ ��� ���
	���� �
���
• $�� ���
�� 
� ����� ����� 
� ���� 	����
��	 �� ��� ���������	 ��������
• ,�� �� ��� ���� ����� �
-� �
 ��� ����� ����� ��	 � ���� �
�����
�� �
��( �������

��� ���
�
��	�

.� ��#��������

:� ��� ���� 
�	����	 �� ;�	���� ?���� 
�� ����
�� �
� 
��
��� ����� ����� 
���
��
���������� �
�� �� ��	 ���� 
�� �
� �	�
�� ��	 ���� ��
�����
�� 	
�����
��� ���� �����	
�� 
������ ��� ���������
�� �
 ��
� ���
����



���	�	
�

 ��

0 100 200 300 400 500

1
2

3
4

5
6

7
true trajectory

n

E
(X
_n
)

0 100 200 300 400 500

1
2

3
4

5
6

7

i=3

n
E
(Y
_n
)

0 100 200 300 400 500

1
2

3
4

5
6

7

i=4

n

E
(Y
_n
)

0 100 200 300 400 500

1
2

3
4

5
6

7
i=5

n

E
(Y
_n
)

�	���� /� 4����
�� �
 ��� ���� ���%������ ��	 �
 ��� ���%�����
�� �
 ���
���������	 ���
� �� ������ i = 3, 4, 5�

0�1�������

�� �� �� :��02 ��/ '� "
,�
��� 
���������� �����	 ��� ������ 	���������� �����	 ������ ���
���������	� ����� �	� �� ����������� ��� � ! �����	�	� 1��2,� �;� �� "������  ���	 �� 
����	���	�
���
�-��� '�4 &��5� �����

�� 8� :��	�<� ��/ 3� "��/
,� ����	�������� �# �����	���� ����� 	���� ������ �����		�	� �	�
���	


���
����� ��/ 	��
� $���

�	
��� ��� ������� ��� �� �7�� � �7==�

�� 8� �� :�2
��2/� $��� ��%������� �������% ��� �%��% �� ��	������� 	�	���	� 8�2���� /� ����
>2�
) ?���
� � ��;;��� �=�@��=���

�� $� :�1
��� ����	��������� � ��������� ��������� ��������� )�	����	
���� 3��-���� �� %�	��,�	
+


���� ���� )))� �2�� %�	�� ��
�� AB�

� ����7�� �;;�@���

@� $� :�1
��� %� �
5��C� �� ������/� ��/ %� *��
�� ����	�������� �� 	�����	��� �������	 �#
��	������� ��������� �����	� ���0�0� ������  ���	�/ ?
��/� ��� ������� ��� �� ;;��7��

7� %� 3�����/��� $� ���1��� �� !�
1
��
� ��/ %� �� ������ ����	����� �������� �# 	�����	��� ���
�����	� � ������	� ��������� 8� �	�	
�	� ����� �� ��;���� ��� �@+7�� 7���7���

=� 8� '� #����
� ��/ �� ����	�� &� '��	��	��������� ��	���������	 �� ��	�����% ��	���������� �����
������ �����	� 8� $���� ���0�0
�
	� � ��;7@�� ��� �� �������

�� %� )� ?��
/�
� ��/ $� #� (��	.���� (����� ������������	 �# ��������� 	�	���	� 1��2,� �7�
�� ��2�/������ /�� %�	��,�	
�
��� (
�����
���	�� D?2�/�,��	�� ��
�

���� �� %�	��,�	

��



�� ������ 	�
����� 	
� 	
���	 ��
����

�

��
��E� ���
�-��+�����-� '�4 &��5� ��
��/ �/
	
��� �;;�� �������	�/ ���, 	�� �;=;  2��
��
��
-
��� 0� 8����� �.B
��

;� �� ?��0��
2�� )��� �����*�� ��	 ����� ��%������ +��������� �
	.2�-�0��

�	� /�� *F�
-�

�
���2��
�
��� $5�/�,
� /�� (
�����
���	 ��;���� �@7��==�

��� ?�  � ���	,�
���� !����������	 �# ��� ������ �# �������	� )�	���

��
� �20�
������ )�
�� '�4
&��5� �;@;� �������	�/ 0� 8� "� :������� 4
	� 	�� ���
�	��
� �� #� (� :2���4 ��/ �� �1��2���

��� %� ���/�	�
�� ,�	���	 ��'���	 ��� ��� %��		 ����	������ ! ��������� ����%� ������� �������� ���
8�2���� �� 3��,

�� ����

� �� ��;7;�� ��� ;� �=����=�;�

��� $� G�2��� +-������% ��� ��������� ����%� ����	���� �# %��		�#�����% 	�	���	� #��� ��������
	��������	 ��� ������	��	 �� �����	����� ����	����� 8� �����H 3��/���� %�		�� �� �������
��� �=� �=�����

��� ��  � *
�5��	�

5� #� ��
�2,���
� ��/ �� �� (������� 
�����% �������	 #�� ��� �������	 �#
��	���	 ��'���	 ���� �� ����� %��		� 	����� �����  �1� $ �� ��;�;�� ��� �� ���@���@��

��� �� %� "
--�		� .���������% �������� 	�	���	� 1��2,� �=7 �� ��2�/������ /�� %�	��,�	
�
���
(
�����
���	�� D?2�/�,��	�� ��
�

���� �� %�	��,�	

�� �

��
��E� ���
�-��+�����-� '�4 &��5�
�;�@�

�@� �� !52��
,�� �� '

��,�� *� �� )5�/�� ��/ &� ��
,
.2� /�������	�� �����	�	 �# �������	 ��
����������	����� ��������������%� 	��#���	� �����  �1� � �� ����;�� ��� �� ��7����

�7� �� !�
1
��
 ��/ �� �
������� ������ �����	 ���� �-����������� 	���� ����	����� ������������	�
��	� �-�� ������� #��� � %������ ������� ..� ��� %������ ��	��� 8� �	�	
�	� ����� �� ��;;7��
��� @+7� ;�=������

�=� �� *� �����		� 0��	��	��������� ��	���������	� ! ������%������ ����
�� �����
�		�HII444�,�	���2>��/2��2I �5�I������I>�/�I>�/���	,� �

��� !�  20��� ��/ $� G�2��� 1��� ���������� 	���	 �� 	��������� ����-������ ! ���������	�����
����������� �����	�	 �# � 	���������� ��'���� �����  �1� � 	� ������� �� �� ���@���

�;� �� ���	��� �� �� #�0���/�		
� ��/ ?� G� �	
��
�-��� 
�%������	 �# ��	������ ��������� ��%���	 ��
��� ����%� ����	���� �# � %��		�#�����% ��'���� '�	2�� ��� ��;;��� @@��@@=�

��� �� �
������� (��������*����� %���� #�� ������ �����	 ��� ����������� �� ����	��������� 8�
�	�	
�	� ����� 	� ��;;��� ��� �+�� �������

��� �� �
������� ����	�������� #�� ������ �����	� � %������ ��������� ��	�� �� ���������*�����
%���� ����	� ���0�0
�
	� ��/ ����� 	����
	
�� �3�,0�
/-�� �;;��� 1��2,� ��� �� '$�! $/1�
�

� )��	� ���� 3 %�	�� ����� �

� ��;;��� *�24�� $
�/� �20��� #��/��
�	� ��������

��� '� �� 1�� *�,���� 
�����	��� 2����		�	 �� 2��	��	 ��� �����	���� '��	� G�����/� ��	 �/
	
���
�;�=�

�������� ��	 
���
�������
 ���������� ����
	����� 
����
	� �����
����	��
 ��� �����


����
	� �
	����

�������� ��	 
���
�������
 ���������� ����
	����� 
����
	� �����
����	��
 ��� �����


����
	� �
	����

+����� �����		H ����������	��
����
����������


